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1). Which is an application of S?}%S circuit? |
?

(A) Fuse in circuit | ;rﬁmmﬂamm

(B) Voltmeter connection | os\lctl-lnldt\l HAa
(C) Electrical lamp in homes | TR T
(D) Shunt resistor in ammeter | 3 Ht Hiexudia QTC'%%IET

Correct Answer : A

2). What is the value of resistance in a open
circuit? | 310 gichered YReTe TG B 3Te?
(A) Low | Hl

(B) High|3=

(C) Zero | [

(D) Infinity | 3Fd

Correct Answer : D

3). What is the value of current in the I¢? | I el
faggq varer g fabcit 311e?
by

h=2A

A LA
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(A) 8A

(B) 7A
(€) 5A

(D) 3A

Correct Answer : B

4). How the valgiof cagacitancg can b\e [
decreased? | HURIE d Y HH Bl bl TS

qHd?

(A) Increasing the plate area | &icd &A% dlgUl

(B) Decreasing the resistance of the plates | eIl Uid®R
HH! B0l

(C) Increasing the distance between the plates | we
QYT SR

fD) Using high dielectric constant material | 3™ SIqsaldgd?
IR

Correct Answer : C

5). Calculate the total power of the circuit of two
lamps rated as 200W/240V are connected in
series across 240V supply? | 200W/240V T8U X

aH TRHUT eI 240V
RIS SISl el 3182
(A) 50w
(B) 100 W
(©) 200w
(D) 400W

Correct Answer : B
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6). Which is an application of the series circuit? |

HTfeIehT Alchedl SIIIANT HIUraT 3Mg?

(A) Voltmeter connection | W@@Uﬂ
(B) Lighting circuits in home | TRTHE AT Afdhe
(C) Shunt resistor in ammeter | 3 HiexHd ETW?T%%IRT

(D) Muiltiplier resistor of a voltmeter | @miﬁﬁ
Tee] W

Correct Answer : D

7). What is the value of resistance of the resistor?

| TP faRieT fhad S 3g?

ORANGE ORANGE RED SLVER

s

(A) 330 = 5% Ohm
(B) 3300 + 10% Ohm
(C) 3300 £ 5 % Ohm

(D) 33000 + 10% Ohm

Correct Answer : B

8). What will happen if a resistor is opened in a
series circuit? | TR YfheHed YaRex IS
BT Braer?

(A) More power loss in the opened resistor | TSI
3P UlaR A

(B) Full current will flow through the opened resistor |

Y Ul 4aTg ared!
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(C) Total supply voltage will ap earacross the opened
reS|stor| %%IWT

(D) No voltage will appear across the opened resistor | 3o

TR Gl

Correct Answer : C

9). What is the effect on the surrounding metal
placed in an alternating magnetic field? |
1gi}SIGbILI &I?IICI odcicyl HHIIdATA=AT Uldr ol

gRUmH gidi?

(A) Hysteresis | [RRIRESIR
(B) Skin effect | ThIH shac
(C) Eddy current | E@f HIC

(D) Dielectric stress | STZAHEIH TH

Correct Answer : C

10). What is the change in value of resistance of
the conductor, ifits cross section area is
doubled? | ST hI¥ R TRAT g ST
AT e fhHd ST 3i1g?

(A) No change | dqd gid gl
(B) Decreases 2 times | @9 9T Ucd

(C) Increases 2 times | 2 35T dled

(D) Decreases 4 times | 4 Jo&5T ged

Correct Answer : B

11), Where the air capacitors are used? | U3[X
g?c') qIoRd SITard?

------ {A)- 1n VHF unit | Qe GeHe- - - - - - - === - -------o---so-soooooo
Contact - 9370948482, 8055403224, 9325721873
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(B) In oscillator | 3Ryeier 7

(©) In loudspeaker | T3S IHRAL
(D) In radio receiver |?!'%3ﬁﬁ?ﬁ€?qiﬁ

Correct Answer : D

12). What is the unit of Magneto Motive Force
(MMF)? | MMF d T BT 38?2

(A) Ampere / M?
(B) Ampere - M
(C) Ampere - turns

(D) Ampere / turns

Correct Answer : C

13). What is the capacitance value of a capacitor
that requires 0.5 coulomb to charge to 35 volt? |
R 0.5 IS ST TTSl 35 dlee 3™ TR
HURIE] fdhad fae! 3rder

(A) 0.014F
(B) 0.025F
(C) 0.14F

(D) 0.25F

Correct Answer : A

14). What is the value of resistance of an open
circuit? | 31U HicbcHAT Uidb R e BRI 3T5?

(A) Zero |

...... (B)- Low | o - _ - o oo
Contact - 9370948482, 8055403224, 9325721873
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(©) Medium | HH

(D) Infinity | 3[Fd

Correct Answer : D

15). Which property of magnet is illustrated as

shown in the figure? | & GRIGITIHTU]
BTl HIOTT UIEH 3TR?
&
&

(A) Directive property | STREIE urudt

(B) Induction property | SSHIMA Uiuel

(C) Saturation property | R UTgef

(D) Poles existing property | UTe SaRIeei Uigef

Correct Answer : A

16). Which factor changes the permeability of a
material? | SV Ucdh UIU TR dqadr?

(A) Length | =
(B) Flux density | PeTaT §ef-uct
(C) Diameter | ST

(D) Cross sectional area | S [AURTT &=

Correct Answer : B

17). How can you increase the pulling strength of
an electromagnet? | 3{TYUT SiaeHUcH! didhg el

A
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qIeq Yhdl?

(A) Increase the field intensity | Wics diadr arear

(B) Reduce the current in the coil | HlsaHe TaTg HH!

(© Redqce the number of turns in the coil | WIJ%?TI[%IFCIT
JBUIT! G HHT DT

(D) Decrease the field intensity | Ticad! diddl ®HH! B

Correct Answer : A

18). What indicates the shape of a BH curve

(Hysteresis loop) of material? | %@ﬁlﬂ U CIREC)
HIg Y H ?

(A) Reluctance of the material | Re®c=g 3 g HeRamd

(B) Field intensity of the substance | fﬁmggﬁremﬁ'é’r 3H
qee

(C) Magnetic properties of the material | HUdI® giuRers
ST 3l

(D),_Pulling power of the magnetic material | qf%ﬂwra? ST
G Hufes Acher

Correct Answer : C

19). Which resistor carries the lowest current in a
parallel circuit having the values of 50Q, 220Q,
450Q and 560Q if connected with the supply? |
RISURI STE™ 500Q, 2200, 450Q 301 5600
T AT THTcR TiheHe BIurdT YaRex Jdid
Sl Uarg a1 Adi?

(A) 500Q

(B) 220Q
(C) 450Q
(D) 560 Q
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Correct Answer : D

20). What is the unit of permeance? | URHA-H o
Thdh S 38?2

(A) Ampere - turns

(B) Weber / Ampere turns

(C) Ampere turns / Weber

(D) Weber / Square metre

Correct Answer : B

21). Which defines that the flux density is always

lagging behind the magnetising force? | Ydig
CRGIG RS eI RESIE R am?r%?b%ﬂﬁ
GRHIST BR?

(A) Hysteresis | feweTida
(B) Magnetic intensity | G ol

(C) Magnetic induction | GIP I SSaR
(D) Residual magnetism | {fdfR1Y dahcd

Correct Answer : A
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22). Which rule is applied to find the direction of

magnetic fields in a solenoid coil?
%@mﬁw &ﬁaﬁrﬁmﬁvﬁ%mﬁaﬁam

(A) Cork screw rule | EF\I%@W

(B) Right hand palm rule | IS dosgTardn fad

(C) Flemings left hand rule | TallH el Sred grdre fHad
(D) Flemings right hand rule | Al Juied] gIardl HaH

Correct Answer : B

23). What.is the reading of the ohmmeter

connected across the opened 'Ry’ resistor as_

shown in the circuit? | FfheHe SRATeTIIATI
'Ry’ QI%NCQQH SIS el

D1 3ie?

i = B

nemwn | [

]
[ ]

Ra

(A) Indicate zero reading |1§Iﬁ RIS graqul
(B) Indicate infinite resistance | 3=d Ufd®R JFd Hdard

(C) Difference in the \r/\alue of the resistance of Ry and R; only
| ek R, STIOT R; =T Ufdh RTAT JelTd el Thidh

(D) Sum of the resistance of Ry and R; only | Thdd R, 3Tfor R;
23l

Correct Answer : B
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24). Calculate the resistance valug\ ofr\tfle resistor

by colour coding method. | 3Tpdld Taeied]

RS =] Hﬁﬁm@wgﬁﬂqﬁ‘cﬂﬁ TIS?
FED ORANGE

BLUE

(A) 23x10°Q + 5%
(B) 26x10°Q + 10%
(©) 32x10*Q +10%

(D) 37x10*Q + 5%

Correct Answer: B

25). Which factor is determining the value of

capacitance in capacitor? | PURTCIHL HURTCT
e [HUTRd HRUIRT UCdh B0l Te?

(A) Area of the plates | ATH D

(B) Weight of the plates | @E'H%la\_ﬂ:f
(C) Volume of the plates | @Eﬂ?ﬁﬂ'ﬁﬂ
(D) Thickness of the plates | INGEIRSIS]]

Correct Answer : A
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NIMI Mock Test

1). Calculate the voltage drop across the resistor
‘R4’ in the circuit. | THATHE R, °T Glecs ST

?
Re360 Ry=400 Ry=500)
L el
¥ L
R, ==
Ry =601
L+ L-©
ot 0 =
(A) 48V
(B) 72V
(©) 80V
(D) 100V

Correct Answer : D

2). What will be the change in value of
capacitance if the distance of the plates are
decreased in the capacitor? | HURTCRTE Tedd
3R HH! AT Hed HURIC~aHE BT dad

?

(A) Becomes zero | Y[ _E?f?[
(B) Remains same | JHT R
(C) Decreases | HH! Eﬁﬁf

(D) Increases | el

Correct Answer : D

3). What is the total inductance if 3 inductors (L,

------ L—za'nd-I:3-)-a1‘e-co11nected-inser'res?1\_ﬂ?‘ﬂ:r-----------------------------
Cont act - 9370948482, 8055403224, 9325721873
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SSdc RIS A Siigd SRYdT Al 94Ul SSdc—y
DI 3Tg?

(A) LT=LixLyxLs

(B) LT=L +L,+1L;

1 1 1
I L .0
© T ‘[1 L: Ls
1
I =
O T+ 1

Correct Answer : B

4). What electrical quantities are related with the

Ohm's law? | 10 fdGgd YATOT 3w farmmeft
\3—||%a7

(A) Current, resistance and power | mﬁﬁuamﬁ

(B) Current, voltage and resistivity | Udlg,cald CRIEITCHE]

(C) Current, voltage and resistance | m@@\_ﬂ 9 faRiy

(D) Voltage, resistance and current density | ald, ICRUK]
Y-dl

Correct Answer : C

5). Which property of magnet is illustrated as

shown in the figure? | & GRAAITIHTU]
BTl HIOTT qUIEH 3Tg?
&
&

(A) Directive property | ST g Urudt
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(B) Induction property | S8HRM WIUT

(C) Saturation property | HTRTA Urgef
(D) Poles existing property | Ui ST gract

Correct Answer : A

6). What indicates the shape of a BH curve
(Hysteresis loop) of material? | %@ﬁm qcram%r.
$HIg AU DI ?

(A) Reluctance of the material | Rebe 3 o3

(B) Field intensity of the substance | e SMsMRIE it
RER]

(C) Magnetic properties of the material | HUdI® TuRers
ST 3

(D),_Pulling power of the magnetic material | WW 3Th
G HAfch HeiRard

Correct Answer : C

7). Which defines that the flux density is always

lagging behind the magnetising fqrce?J Udie
gdl DI =T AR 3R B DU
TRHTIT PR

(A) Hysteresis | feeiei
(B) Magnetic intensity | 8 J digal
(C) Magnetic induction | JEHIT SSa

(D) Residual magnetism | mw

Correct Answer : A

8). Which material is having the negative
temperature co-efficient property? |
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E]ﬂ%tﬂmfr THRIHD dUH g-DHH&H JoreH
?

(A) Mica | HIO®T

(B) Eureka | X1

(© Copper|ﬁv'CIT
(D) Manganin | B9+

Correct Answer : A

9). Which method is used for measuring 1 Ohm

to 1 megohm range resistance? | 1 Ohm d1
megohm XS [3RE~ nﬁawmm‘l[ DIvTd! Ugd
ol

?

(A) Substitution method | TS ICYRM UG
(B) Kelvin bridge method | Pfedr fool Ugeyd
(C) Wheat stone bridge method | Flewe  fos ugw

(D) Voltmeter and ammeter method | FleeHIeR T 3f-Hiex
Ua&d

Correct Answer : C

10). Why the ohmmeter is graduated with non-
linear scale? | 3figHHteR A faf R Whd U8
TGdIeR BT 3Te?

(A) Voltage is directly proportional to resistance | Slees
YfcRIEe A YHTUIT

(B) Current is inversely proportional to resistance | CLL I
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(@) ReS|stance is inversely pro ortlonal to the square of
current | alli%ql

(D) Voltage is directly proportional to the square of the
current | AT ¢ JHTu

Correct Answer : B

11). Calculate the total capacitance value in the
circuit. | THATHS THUI HURTC =T fohHd M
Plel?

(A) 0.16 uF
(B) 6 uF
(C) 30 pF

(D) 70 pF

Correct Answer : B

12). Which is a paramagnetic substance? |
qerd I 3Tg?

(A) Air | 3R

(B) Steel | &l
(C) Glass | 7
(D) Water | GOt

Correct Answer : A
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13). Which bulb will have lowest resistance? |

BT ToadT YRR ald HH! 3e?

(A) 240V, 60 W
(B) 240V, 100 W
(C) 240V, 200W

(D) 240V, 500 W

Correct Answer : D

14). What is the capacitance value of a capacitor
that requires 0.5 coulomb to charge to 35 volt? |
SR 0.5 Picre 107 Trol 35 AT R
HURICI! b fobdl e

(A) 0.014F
(B) 0.025F
(C) 0.14F

(D) 0.25F

Correct Answer : A

15). What is the effect on the surrounding metal
placed in an alternating magnetic field? |
Jdh Y &ATd Sdcdcdl HHIIdTeT=AT YUTJdR bl

TR gidi?

(A) Hysteresis | fgeeREg
(B) Skin effect | T hac
(C) Eddy current | Eftﬂ HIC

(D) Dielectric stress | SIqsadanOD %EA{-I

Correct Answer : C
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16). What will happen, if the polarized electrolytic
caeacitor is reversely connected? | Scldclcllsc

HURTeR Ngd Dl R B Blga?

(A) No effect on the capacitor | HURTEIAR HIed giRumd

(B) Explode due to excessive heat | 3fa Wﬁ'ﬂ% Thic
(C). Current is reduced in the circuit | ¥aTg SebicHE HHI

(D% Value of capacitance will be increased | FHURTE! fbad

Correct Answer : B

17). What is the value of hot resistance of a bulb

rated as 100W/250V? | 100W/250V U Hedifdd
bl dead TRY cri%l?ifw%r T &1 3157

(A) 31.25 ohm

(B) 62.50 ohm

(C©) 312.50 ohm

(D) 625.00 ohm

Correct Answer : D

18). Which factor is determining the value of
capacitance in capacitor? |\$a|%3€mﬁ$aﬁl—c'¥|%[
T FYiRd HRURT gee HIUMT 3HTe?

(A) Area of the plates | W

(B) Weight of the plates | @Eﬂ%a\_ﬂ:{
(C) Volume of the plates | @Eﬂ?ﬁﬂﬁﬂ
(D) Thickness of the plates | wied! STet

------ Correct-Answer-A- - --------------- - - - - m oo m - mm -

Contact - 9370948482, 8055403224, 9325721873
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19). What precaution to be taken before
connecting the different voltage rating
capacitors in series? | RRISTH& d7d7e5d] Slec ol

I HURIER SIS HIUI BBl Udal Uligor?

(A), All the capacitors must be same manufacturer | i3]

SIIUI dRIE IRA! 3el U1figs!

(B) Each capacitors voltage drop must be less than its
voltage ratmg | Hw‘&%ﬁ'ﬁﬁ 31"1 Bl

(C) Total capacitors value must be less than the lowest value
of capacitor | TVl HURISR! fdhrd g1 dal fhrdi
HURTCIUET HHI 3RTell UTfgo!

(D) Break down voltage of each capacitor must be same |
Udd HURICI STSS 05|Q’C\7| IR 31

Correct Answer : B

20). Calculate the hot resistance of 200W / 250V

rated lamp. | 200 d¢/250 &lecdl TRH faRIuUH
?

(A) 31.25Q
(B) 62.5Q

(©) 312.5Q
(D) 625Q

Correct Answer : C

21). How the value of capacitance can be

decreased? | HURICT d g By HHI Pl SIS
?

(A) Increasing the plate area | Ricd &% aeUl
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(B) Decreasing the resistance of the plates | L@IQHdI SIREAN
HHI BRI

(C) Increasing the distance between the plates | we
QYHIT 3R

D) Using high dielectric constant material | 3= SIS cldCDh
CIERE]

Correct Answer : C

22). What is the value of resistance of the
resistor? | 3MThdiHed faRILT {hHd B 3g?

ORANGE ORAHGE RED SLVER

>

(A) 330 £ 5% Ohm
(B) 3300 £ 10% Ohm
(C) 3300 £5 % Ohm

(D) 33000 + 10% Ohm

Correct Answer : B

23). Which electrical quantity causes for the heat
eneration in a conductor? | $SIcIH
Il AT ST AT HRa?

(A) Voltage | @é\_ﬂ
(B) Square of the current | BT [

(C) Square of the resistance | faRYema avf

(D) Square of the voltage | glecoral TRy

Correct Answer : B
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24). Which is the diamagnetic substance? |

3D IIE Uard PI0T 3T8?

(A) Wood | ATHS
(B) Nickel | H&d
(C) Platinum | WifeH
(D) Manganese | 99

Correct Answer : A

25). What is the unit of permeance? | URHA-H o
Theh DI 3HTg?

(A) Ampere - turns
(B) Weber / Ampere turns
(C) Ampere turns / Weber

(D) Weber / Square metre

Correct Answer : B

26). Which law states that the applied voltage in
a closed circuit, is equal to the sum of the
voltage drops? | §¢ didbcH AN BIUIRT &lecyl,
Flees AT SRoIgdP] 38, 3 HIvrdl (HaH
gTdr?

(A) Ohm’s law | 3gHaT fFaH

(B) Laws of resistance ﬁ@w 1 e

(C) Kirchhoff’s first law | fooamm=n ufgar fAag

(D) Kirchhoff’s second law | fevarman LR s

Correct Answer : D
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27). Which resistor carries the lowest current in a
parallel circuit having the values of 50Q, 220Q,
450Q and 560Q if connected with the supply? |
RAGUTRI Se e 50Q, 2200, 4500 3HT0T 560Q
Y 3cied] THIGR b cHe HIUTdT feReR Jaid

DHH! UdTg arg= Har?

(A) 50Q
(B) 220Q
(C) 450Q

(D) 560 Q

Correct Answer : D

28). What is the unit of Magneto Motive Force
(MMF)?-| MMF d T BT 3Te?

(A) Ampere / M?

(B) Ampere - M

(C) Ampere - turns

(D) Ampere / turns

Correct Answer : C

29). Which is an application of series circuit? |
HTferesT Afdred SIUART HIUIdT 3HTg?

(A) Fuse in circuit | gfbeAda Byl

(B) Voltmeter connection | Eﬁﬁfﬂ"&%{ HAIH

(C) Electrical lamp in homes | TRIATA T

(D) Shunt resistor in ammeter | 3 HewHehd QIEQ'%?ET

Correct Answer : A
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30). Calculate the resistance valug\ ofr:cfle resistor

by colour coding method. | 3Tpdld Taeied]

RS =] Hﬁﬁﬂ?ﬁq@wgﬁﬂqﬁ‘cﬂﬁ TIS?
RED ORANGE

BLUE

(A) 23x10°Q + 5%
(B) 26x10°Q + 10%
(©) 32x10*Q +10%

(D) 37x10*Q + 5%

Correct Answer: B

31). Which electrical quantity is directly
proportional to the eddy current? | G| ﬁaga
YHIUNG TS ehee 81 AT UTHIUH 3Te?

(A) Voltage | Fﬁﬁ@ﬁ
(B) Current | HC
(C) Frequency | fipe=t

(D) Resistance | YTl

Correct Answer : C

32). Calculate the value of unknown resistance
‘RDC’ in the Wheatstone bridge network, If PAB

= 500W, QBC = 300W, SAD = 15W,at balanced
condition. | fa%eT fawT w1 WeTaM Hifgd Aoaiedt
RDC RN BTl PAB = 5000, QBC =
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3000, SAD = 150, Bl 3faRYT faxer fosl <t 311g?

(A) 12Q
(B) 9Q
(C) 6Q

(D) 3Q

Correct Answer : B

33). Calculate the total power of the circuit of
two lamps rated as 200W/240V are connected in
series across 240V supply? | 200W/240V %U]Eﬁ?

G THUT Gt 240V
RAGTATH SIS e 3ATR?
(A) 50w
(B) 100 W
(©) 200W
(D) 400 W

Correct Answer : B

34). How can you increase the pulling strength of

an electromagnet? | WS@H@WWW
dicqd Xhdl?

(A) Increase the field intensity | BIcs diadr aredr
(B) Reduce the current in the coil | mie{m?ﬁ:ﬁ

© Reduce the number of turns in the coil | WT[W
dOOUII‘ClI {-I{Q’vll Eb_ﬁﬂ PR
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(D) Decrease the field intensity | Bicsdl diddl BT DRI

Correct Answer : A

35). Which factor changes the permeability of a
material? | IUTT g UeTdle URTRIAT daadr?

(A) Length | =

(B) Flux density | TFeTeRT Sef=ct

(C) Diameter | A=

(D) Cross sectional area | S [AURTT &=

Correct Answer : B

36). Which is an application of the series circuit? |
3{T8?

(A) Voltmeter connection | FIdHICT] SHauft
(B) Lighting circuits in home | ERTHE @IgcIT Afdhe
(C) Shunt resistor in ammeter | 3 Hermdta ﬁ’wa‘d%qw

(D) Muiltiplier resistor of a voltmeter | @mﬂ'ﬂ‘iﬂ?{
Wi

Correct Answer : D

37). What is the effect of the circuit, if points ‘ab’
are shorted as shown in the figure? L\»&W
cRIdUTYHIU[ ‘ab’ 1%@ oIgl ol dX Hlch T hIY
aRoTH gldl?

TN

BPPLY
&
F
&
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(A) Circuit resistance will become zero | Tfde gfaRiy PR

(B) Same current will flow in all branches | WW&H
THYRAI YdTg deid

(C) Supply voltage will increase in each branch |1R?I$QTI@?[
YRdol celecyl dle

(D)_ Each branch current is equal to total current | PRICH
HAdle QpUl Hdlelzdl dHIA

Correct Answer : A

38). What is the reading of the galvanometer in

wheat stone bridge at balanced condition?

P 3Me?

(A) High deflection | 3= fagur
(B) Low deflection | H! faamo
(C) Nill deflection | fra fagraor
(D) Oscillate | 3fiRFHcic

Correct Answer : C

39). What is the reading of the ohmmeter
connected across the opened ‘R;’ resistor as
shown in the circuit? | FECERIEEIN]
G“EIG@I&”?%ZIT 'R’ ISR SIS cied ST ST
Dh1Y AHlg?

&



javascript:void(0)
javascript:void(0)

_ Page 26
(A) Indicate zero reading | f3RT RfET qraau!

(B) Indicate infinite resistance | 3f-id Ufd®R Jfad ®dard

(C) Difference in the value of the resistance of Ry and R; only

| ] R, TMUT R, =T Ui RI=AT HedTd el thidh

(D) Sum of the resistance of Ry and R; only | Thdd R, 3for R;
23l

Correct Answer : B

40). What is the reading of the voltmeter ‘V'? | V'

RSt focft arder?

Py =28k &3 =

Rg=i Tk O

-

(A) OV
(B) 6V
(€ 9V

(D) 18V

Correct Answer : D

41). What is the change in value of resistance of
the conductor, if its cross section area is
doubled? | hEFT 1Y R TRAT TW T
e YRt fhrd w1 31rg?

(A) No change | §&d gId Tg!
(B) Decreases 2 times | EﬂT-I d3T Ued
(C) Increases 2 times | 2 Jo5T dled

""" (D) Detreases Atimes] 4 BT TEA- -~ -~~~ """ """ ----- - -ssoo----o--o-oooo
Cont act - 9370948482, 8055403224, 9325721873
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Correct Answer : B

42). What is the name of the resis\tor as shown in
the figure? | 3MTdhdId GRATTIHIO! IR A1d
DI 3HTe?

(A) Metal film resistor | Hed heA QI%I%C-%I

(B) Wire wound resistor | IR dT&HS ¥f3¥e?

(C) Carbon —film resistor | HTa e \QI?‘;NO{-I

(D) Carbon composition resistor | WW@?@W

Correct Answer : B

43). Calculate the unknown resistance “RDC" in
the Wheatstone bridge circuit, if PAB=400 ohms,
QBC=200 ohms and SAD=12ohms at balanced
condition. | fa¥e TSt w1 Term= Aifed Facied
IR RDC MYA D61 SR PAB = 4000, QBC =
200Q), SAD = 12Q

: 12V
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€ 8Q

(D) 12Q

Correct Answer : B

44). What is the change of resistance value of the
conductor as its diameter is doubled? | Pheded
UioRIY® Jod daald BHRUI il A1 gUWc 3g?

(A) Increases to two times | S dool dTed
(B) Decreases to four times | ¥ dBT HHI ﬁ?f
(C) Decrease to half of the value | oI 3reff et

(D) No change in value of resistance | PSRRI H\FCHTFE!?[
gad el

Correct Answer : B

45). Which is the diamagnetic substance? |
[SD1g UG I &n%?

(A) Air|zdl

(B) Steel | &Td

(C) Water | Uroft

(D) Platinum |ﬁﬂﬂﬂ

Correct Answer : C

46). What is the voltage drgg in resistor ‘R;" in
the series circuit? | R, =l
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fEHTUl glecsl 1Y fhdl 3T?

& 1000 'gzzum
__jﬂw

Hsm Fll‘m

(A) 5 Volt

(B) 10 Volt

(C) 15 Volt

(D) 20 Volt

Correct Answer : B

47). When the no current will flow through the
galvanometer in the wheat stone bridge? |

TegT=T ISl TcogrIHICHYT
Sl SIUR AT61?

(A) In balanced condition | Tqferd fRudta

(B) In unbalanced condition | &Iﬂ?\ﬂ%ﬁf
(C) In short- circuited condition | ¢ e F¥Yciid

(D) In open- circuited condition | 3-gfdhe fRuda

Correct Answer : A

48). Which is the correct expression of
capacitance 'C’ if the electric charge is ‘Q" and
the voltage is "V'? | %% Eap

318 SR 3e1aIh 1ol Q 1M gleesl v
c&@ﬁ?ﬂ?
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® C= %

(€ C=VQ

© c-Jva

Correct Answer : A

49). What is the value of resistance in a open
circuit? | 31U Hicheq IRE~Td g B 3112
(A) Low | !

(B) High|3=

(C) Zero |

(D) Infinity | 3Fd

Correct Answer : D

50). Calculate the value of resistance by colour
coding method. | Wﬁﬁ?ﬂi‘éﬁiﬂ

= PIeT?

(A) 22x10% +10%
(B) 23x10* +10%
(C) 25x10% £5%

(D) 36x10* £ 5%


javascript:void(0)
javascript:void(0)

Page 31

Correct Answer : C
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NIMI Mock Test

1). How much time is required for a 50 Hz AC
supply to complete one cycle? | Tdh I
50 Hz AC I 9131 farcl 95 ?

(A) 0.1second | 0.1¥&g

(B) 0.02 second | 0.02 &g
(C) 0.15 second | 0.15 Y
(D) 0.45 second | 0.45 qbg

Correct Answer : B

2). Calculate the apparent power in KVA of 3
phase 415V, 50 Hz, star system, if the line current
(IL) is 16A-at 0.8 power factor. | 3 Wl 415 &1, 50
32?3[, TR A= KVA HYid I ATl 70T
T, SR AT+ <1 (IL) 16 T 0 3MTe 0.8 TlaR
hacRdR?

(A) 15.2 KVA
(B) 11.5 KVA
(€) 9.2 KVA

(D) 6.64 KVA

Correct Answer : B

3). What is the rated AC voltage for single phase
domestic supply in India? | YRdId RATS ool

Y¢S T Flee fahdl! 3MTR?

(A) 110V

(B) 240V
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(D) 440V

Correct Answer : B

4). Calculate the impedance of the circuit R = 5Q,
XL=36Q and XC = 24 Q.| R =5Q XL= 36Q Xc

=240 Gfhe=ar gfaaTr= TUET S
% %
R b

3

8

y

3

(A) 69 Q

(B) 65Q

) 13 Q

(D) 12Q

Correct Answer : C

5). What is the phase angle difference between
any twoiﬁ%ases in a 3 phase system? | 3 %
R A el STaHdd

P B 3T5?

(A) 90°

(B) 120°
(€) 180°
(D) 360°

Correct Answer : B
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6). How the resonance frequency (fr) can be
increased in A.C series circuit? | AC

A Y bl Sl arga?

e

(A) Increasing the inductance value | gSae-adl [
dleedlar

(B) Reducing the capacitance value | PUIRIe~Tdl fhad
FHI TR

(C) Increasing the capacitance value | Ut fhad
diecdra}

(D) Increasing the value of resistance |§ﬁ1€7\‘=ﬁﬁ%ﬁlﬂ
dlgcdrar

Correct Answer : B

7). What is the value of phase current if the line
current’is 20 Amp in delta connection?éﬁ’éﬁl .
HHREA TS HIC 20 Amp 3T B P
g bl Sa?

(A) 20A

(B) 15.6 A

(€©) 11.55A

(D) 10A

Correct Answer : C

8). What is the standard frequency of AC supply

in India? | YR T8I QRIS A TRARC]
fobll 31187

(A) 25Hz
(B) 60 Hz

(C) 50 Hz


javascript:void(0)
javascript:void(0)

Page 35

Correct Answer : C

9). What will be the readings of two watt meters

(W1 & W,) in 3 phase power measurement, if the
power factor is zero? | 3 TSl UTaR HIUYAM SR UTdR
R I YN G de TR (W, & W) Tgdid
ST D1 3R

(A) W; & W, both are positive reading | W, 3ATIOT W, &gt &
HISTHTY

(B) W, & W, both are negative reading | W, 30T W, alel

AN RIHD dl<-

(C) W, is equal to W; but with opposite signs | W, 3for

W, gi=et 9AT gul firs o

(D) W, is unequal to W, but with opposite signs | W, B W,
SIEHI 36 Uq 8fled

Correct Answer : C

10). When the resonance will occur in R-L-C
series circuit? | "&T@-Qﬁ-‘v‘ﬁ IR gfbcne S GG
Hel Blsa?

gﬁ)% Inductive reactance (XL) is zero | IR wfdfar (XL) =

(B) Inductive reactance (XL) is equgl to capacitive
reactance (xc\.;)"%ﬂw (XL) ®ufdfed Ruge=a (xc)
=T SR

(C) Inductive reactance (XL) is greater than capacitive
%tg%e (XC) | IR wfdfehar (XL) Huffea Rudea (XC) Taf

(D) Indyctive reactance (XL) is less than capacitive reactance

(XC) | SSfaea Ruge (xL) HuRifed Ruge=T (XC) Uem o 3

Correct Answer : B
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11). Which power measurement method is used
for both balanced and unbalanced loads? | qa
30T 3 eT-H IS HIST DI UIaR HORHC UG d
aTORG STTd?

(A) 2 wattmeter method | 2 deHler Ugd

(B) Energy meter method | Sl Hlex UGd
(C) Single wattmeter method | RiTTq JeHiex Ugd

(D) Voltmeter and Ammeter method | aﬁwﬂa STFOT
3HIR Ugd

Correct Answer : A

12). Calculate the power factor of coil having
resistance of 240, draws the current of 5A, at
240V/.50Hz AC supply. | ISRE=T 240, B 5 A,
240V, 50 Hz A.C ST 31 UTaR Thaex N BHIaT?

(A) 0.8
(B) 0.6
(©) 0.5

(D) 0.3

Correct Answer : C

13). What is the resistance of the inductive coil
takes 5A current across 240V, 50Hz supply at 0.8
power factor? | Tpl $SdﬂI06 cl9l$c1 dIPC5 A

240 V 50 Hz SISl 315, UlaR ey
0.8 &n% R BIEN?

(A) 48Q
(B) 42.5Q
(C) 38.4Q
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(D) 26.6Q

Correct Answer : C

14). What is the phase displacement in a single

hase AC circuit? | 1 Tl TXT. Tie A ol
fopcfl SR SrRTcr?

(A) 90°
(B) 120°
(C) 180°

(D) 270°

Correct Answer ; A

15). Which 3 phase system requires the artificial
neutral to measure the phase voltage? | DI 3
Thol RIRCHA 1l Elee s HISTUATHI] Hi TeR
3{TIRTS 3HT?

(A) 3 wire star connected system | 3 9O IR Pdes Ry
(B) 4 wire star connected system | 4 IR IR Facs R
iC) 3 wire delta connected system | 3 dTUX ST PGS

(D) Scott connected system | Ihic B RieH

Correct Answer : C

16). What is the formula to calculate the

impedance (Z) of the R.L.C series circuit, if the

inductive reactance (XL) is less than capacitive

reactance (XC)? | 3RUHT RIS Afchet UiameT
U] BRI G DY 3178, SR b

(XL) DHURIfea RudeT (XC) U&T HHT 3-d ax?
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(A)  Z=RZ:+ X 2+X.2

Eu\/ﬁ +{){L—XE}2

©  z= JRZ+(X 2 X,)?

D) Z—\[RZH{Xc-X, )

Correct Answer : D

17). What is the line voltage in 3 phase system if
the phase voltage is 240V? | 3 Tl R ged o)

ol GleesT 240v 3T IR Als dalees! fdat 3Rd
?

(A) 380 Volt
(B) 400 Volt
(C) 415 Voit

(D) 440 Volt

Correct Answer : C
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18) What is the main cause for very low lagging
wer factor in 3 phase system? | 3
& GiaR e U Ul gIudrd T HRUI
DY 3MTe?

(A) Due to fluctuation of voltage | Glecs & T

](i% True power due to resistive load | W3 giaR el dre
(O Reactive power due to more inductive load | feeradis
UiaR O §Sac i

(D) Reactive e power ¢ due to more capacitive load | 3o G‘cﬁ%’
HIGN vl Ivd P Y]Ico ('Hsliob

Correct Answer : C

19). What is the value of line current if phase
current is 20 Amp in star connection? |
ol HIC 20 Amp 3TN Al Hicd

g DT 3R?

(A) 20A
(B) 173 A
(C) 156 A
(D) 10A

Correct Answer : A

20). Which conductors are used for the over head

dISt“bUtloTﬁl'll?éS? | 3fieR B8 fSResga

Hedex TR SIdTd?

(A) Insulated conductors | sr{ic\k\:s dlgh

(B) Insulated solid conductors | srﬁc}lés Yg dlgd

(C) Bare conductors | 39S digdh
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(D) Two core cable | hEd ¢ HISR

Correct Answer : C

21). How will you obtain the positive reading in
the wattmeter if it gives negative readlng during
3Johase two wattmeter method? |

dicHicR Ugdid ThRIHAD dldﬂﬁ?qm ey

TR YHRIHD drd B [Heser?

(A) By intercha\nging the connections of 3 phase supply | “3
CECNEEMYG

(B) By dlsconnectlng the connectlon of current c0|I of the
wattmeter | dCHIC‘{ULII d(‘IHI"I Ohl‘éﬂtl Cb"IORI"I IS%GD"IOPC e

(C) By reversing the connection of pressure coil of the
wattmeter | ST B HAaRIA SAC B

(D) By reversing the connection of both pressure coil and
current coil of the wattmeter | USR W iy
PIsd Tl Glold B Idc HEA

Correct Answer : C

22). What is the relation between the line current
(IL) and phase current (IP) in delta connected
system? | Secl Hdes RICAA o3 He (IL)
3101 el HC (IP) TRE DT JaY 3117

(A) IL=1P
(B) IL=31IP
(C) IL=031IP

(D) IL=1P /03

Correct Answer : C

23). Which load condition the phase currents of a
...... 3_phase system are different? | 3 U JUTele WS - . - oo ...
Cont act - 9370948482, 8055403224, 9325721873
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UdTg HI0IdT drs U e 3gd?

(A) At balanced resistive load | ﬂ?ﬂ%ﬂﬂﬁlﬁ%?ﬁw

(B) At balanced inductive load | Sgferd M HATHES SR
(C) At balanced RLC load | §qfefd RLC TSR

(D) At unbalanced load | AT ASaR

Correct Answer : D

24). What is the P.F if one of the wattmeters
reading is zero and the other reads total power
in 2 wattmeter method of 3 phase power
measurement? | 3 ol UlaR HSRAC A& 1 d¢ HIcR
0 RS17 Grafad S R SIf0r GIRT d¢ Hicx clcd
OTaR GRIA 8 TR 791 Yobicdl PF fabdl S¥d

(A) 0.5
(B) Zero
(C) Unity

(D) Below 0.5

Correct Answer : A

25). What is the relation between the line voltage

(VL) and phase voltage (Vp) in star connected

system? | R dprdce RRCHAY e Glecs (VL)
ol lecs (VP) JiATd DI oY 3MTg?

L P
(B) VL — 3VP
©  \ —\p/y3
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D@ V|, =Vp/3

Correct Answer : A
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NIMI Mock Test

1). How the resonance frequency (fr) can be
increased in A.C series circuit? | AC

A S et Bl dred?

e

(A) Increasing the inductance value | '-:;édclf{-ltlﬁl [P Hd
digcdIa}

(B) Reducing the capacitance value | FUIRIegHl fbHd
HH TR

(C) Increasing the capacitance value | HUTRICTd! fdhHd
dlecldr

(D) Increasing the value of resistance |®E¥Rﬂ fohera
CIERICE

Correct Answer : B

2). How much time is required for a 50 Hz AC
supply to complete one cycle? | T HIh ]

HRUGITS! 50 Hz AC TEIT IT3 1 Tt 95 ?

(A) 0.1second | 0.1 Jqdbg

(B) 0.02 second | 0.02 JFg
(C) 0.15 second | 0.15 Adhq
(D) 0.45 second | 0.45 &g

Correct Answer : B

3). What is the power factor if one of the
wattmeter gives negative reading in two
wattmeter method of 3 phase power
measurement? | 3 TSl OTaR j3|§ITEI_C’ A R W de
Hiex (A7l RS arafdd sRie @R UlR HheeR
fobcll 3rreT?
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(B) 0.5

(C) Unity

(D) Less than 0.5

Correct Answer : D

4). Calculate the impedance of the circuit R = 5Q,
XL=36Q and XC = 24 Q. | R =5Q XL= 36Q Xc
=240 Hﬁﬁwqﬁmm’rww

w

240 %, B Hx

(A) 69Q
(B) 65Q
() 13Q

(D) 12Q

Correct Answer : C

5). What is the form factor (Kf for the sinusoidal
AC? | Oro-IIged Tl 1dl B B (Kf) H1
3{Tg?

(A) 1.00
(B) 1.11
(C) 2.22

(D) 4.44

Correct Answer : B
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6). What is the total power by two wattmeter (W,
& W) method, if one of the wattmeter (Wz)
reading is taken after reversing? | dl-—l deHicR (W1
31O W) H&dl-—l R dlcHIeR (Wz)

HedHaR ddd d THUT ekl Gﬂ%’?

(A) W;x2
(B) W, only
) W,-W;

(D) Wi+ W,

Correct Answer : C

7). What is the relation between the line current

(IL) and phase current (IP) in delta connected

system? | Secl Briacs REHAA T8+ BRC (IL)
el Bc (IP) SIRIH BT TaY 35?2

(A) IL=1P
(B) IL=3IP
(C) IL=031IP

(D) IL=1P /O3

Correct Answer : C

8). What is the formula for the reactive power_
(Pr) in an AC circuit? | epa]| gfcbeaed IRy

(GI3R) = Y 1Y 3MTR?

(A) Pr=VI

(B) Pr=v2VI
(©) Pr=Vicos©
(D) Pr=Visin©
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Correct Answer : D

9). What is the PF if one of the wattmeters
reading is zero and the other reads total power
in 2 wattmeter method of 3 phase power
measurement? | 3 Bl UTaR c 7Y 1dc HieY
0 RSIT grafdd b R 3101 gERT d Hier cled
GlaR S e TR a1 Febled PF fabdit erdd

(A) 0.5
(B) Zero
(C) Unity

(D) Below 0.5

Correct Answer : A

10). Which formula is used to calculate the
impedance (z) of a RLC series circuit? | RLC RIS
Tefid SfUe~T Z ST A Hledrd?

@A) Z=R? +(x_ ~X.)’

(B) Z=yR%+(x, ~x)

© Z=yR +(x_ ~X.)

(D) Z=R%+(x_ ~x ]

Correct Answer : D

11). What is the value of phase current if the line
current is 20 Amp in delta connection? |
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PHRRAE TIFT PRC 20 Amp I el B
g fobdl 3a?

(A) 20A

(B) 156 A

(©) 11.55A

(D) 10 A

Correct Answer : C

12). What is the formula to calculate the
impedance (Z) of the R.L.C series circuit, if the
inductive reactance (XL) is less than capacitive
reactance (XC)? | 3RUT TRIS Afch e ufdamen
(SS) IUHET DRI T BT g, SR WReb RUde—4
(XL) ®Uifed Rude—T (XC) Uem HH 3d ar?

(A) P Zz=R24fX, 3¥X.2
(B) | Z=yR 404 -Xo)

©  z- RZ+(X2Xo)?

D) z—\RZH{Xc-X, )

Correct Answer : D

13). What is the reciprocal of reactance in an AC
arallel circuit? | AC Ul
DY 357

(A) Impedance | sHe

(B) Admittance | 3

(C) Conductance | hSac
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(D) Susceptance | Jq7

Correct Answer : D

14). What will be the readings of two watt meters
(W, & W,) in 3 phase power measurement, if the
power factor is zero? | 3 Trof UTaR AT SR TR
e’ I SN G de Hler (Wq & W,) Tgdid
ST D1 3R

(A) W; & W, both are positive reading | W, 30T W, il o
HISTHTY

(B) W; & W, both are negative reading | W, 30T W, G g
AN RIHD < 31I6d

(C) W, is equal to W, but with opposite signs | W, 3for
W, Gt §HI g7

(D) Wj is unequal to W, but with opposite signs | Wi, BW,
SRISR 3HHI G‘I'I% l—Ng Idbc& Itl*fi 3‘IIE§d

Correct Answer : C

15). What is the ratio between the peak value and
RMS value? | §ai Jed 30T RMS Hed JieATca
B 3MT?

(A) Form factor | BIH thacx
(B) RMS factor | RMS Ycdh

(C) Peak factor | e e
(D) Effective value | UHTal HY

Correct Answer : C

16). What is the value of the current in neutral
conductor in 3 phase star connected unbalanced
load? | 3 er1 TR Hde dferd dieded dey

------ P ede ANy TR e fahah 3ig2-2 - - === === w - mm e
Cont act - 9370948482, 8055403224, 9325721873
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(A) No current will flow | $YC ATGUIR gl

(B) The algebraic sum of current in 3 phases | 3 ﬁ’)_\rﬁlTﬁ@H
e dhRe

(C) The algebraic sum of current in 2 phases only | 2 Toral
[HooA clcel v had

D) The vector sum of current in 3 phases | 3 Tuigdid
3 UATgTdl dae” a¥tel

Correct Answer : D

17). Calculate the electrical energy in unit
consumed by 500W lamp for 5 hours. | 5

500 mwéﬁwgﬁmﬂ’lﬁﬁwaﬁ%ﬂ O
PRI?

(A) 0.5 unit

(B) 1.0.unit

(C) 1.5 unit

(D) 2.5 unit

Correct Answer : D

18). What is the phase angle difference between

any two ases in a 3 phase system7 | 3 W

WW&H%’

(A) 90°

(B) 120°
(€) 180°
(D) 360°

Correct Answer : B


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 50

19). What relationship is illustrated in the figure

between the current and voltage wave‘.:g[ﬁ_c{ﬂ?[
7T 30T sglec sl R Ti<ATdle 3MpeHed DI
ey R 3Mg?

+

| X7

(A)_ Current and voltage are “in phase” | 3¢ 3TfOT Fleeo

(B) \Current and vgltage are in out of phase | H3C 3{Tfor
gyl 3IHC I W

(C) Currentiags behind the voltage | ®3¢ g lecora AN

(D) Current leads ahead of the voltage | $3¢ Rlecora Qﬁ

Correct Answer : A

20). Calculate the apparent power in KVA of 3
phase 415V, 50 Hz, star system, if the line current
(IL) is 16A at 0.8 power factor. | 3 Bl 415 &, 50

S, TR A= KVA Aie WY et 70T
T, SR AT =1 (IL) 16 T 0 3MTe 0.8 TlaR
hdedR?

(A) 15.2 KVA
(B) 11.5 KVA
(€) 9.2 KVA

(D) 6.64 KVA

Correct Answer : B
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21). Calculate the power factor of coil having
resistance of 24Q, draws the current of 5A, at
240V/ 50Hz AC supply. | IV 240, BT 5 A,
240V, 50 Hz A.C TR AT UTaR Taex TN HIET?

(A) 0.8
(B) 0.6
(©) 0.5

(D) 0.3

Correct Answer : C

22). Which load condition the phase currents of a
3 phase system are different? | 3 Tl YUlTeid ool

UdTE DIvidl ale R fue smgd?

(A) At balanced resistive load |ﬁ§%ﬁqﬁﬁwﬁw

(B) At balanced inductive load | I SRTHATESD ASdR
(C) At balanced RLC load | ﬂ’gﬁlﬁ RLC AISaR

(D) At unbalanced load | T ASaR

Correct Answer : D

23). What is the resistance of the inductive coil
takes 5A current across 240V, 50Hz supply at 0.8
power factor? | Uh] ss«:rdos Oblsﬂ dIdC5 A ud
3 ST DI 240 V 50 Hz TSl 31Tg. UldR e
0.8 3{Tg TR A<~ HIGI?

(A) 48Q

(B) 42.5Q
(C) 38.4Q
(D) 26.6Q
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Correct Answer : C

24). Which power measurement method is used
for both balanced and unbalanced loads? | CNES
3107 SFeeTg IS A3t HIUTCH UlaR AeRAC Usd
EIERGINEIGF

(A) 2 wattmeter method | 2 dedier Jsd

(B) Energy meter method | STl Hie Tsd
(C) Single wattmeter method | RiFel deHier Ugd

(D) Voltmeter and Ammeter method | % cCHICY 3O
3R Ugd

Correct Answer ; A

25). Calculate the value of admittance (Y) of the
RLC parallel circuit connected across
240volts/50Hz AC supply and current of 8 Amps
is passed through it? | 240 E?IFC’/SOHZ AC JXdadl
8 Amp T SilSTiedl RLC FHIGR Ficheel Hed
(Y) TTUTT DT, i Iddgl,dbldlﬁ; SITe.

(A) 3.33 Mho
(B) 0.33 Mho
(C) 0.033 Mho

(D) 0.003 Mho

Correct Answer : C

26). What is the condition for resonance in RLC
series circuit? (Inductive reactance = ‘XL,
Capacitive reactance = 'XC’) | RLC RIS HWT[?}E{

W&EWW%@HWﬂL
Rude=g = XC
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(A) XL > XC

(B) XL < XC
(€) XL =XC

(D) XL > V2 XC

Correct Answer : C

27). Calculate the power factor of R.L.C circuit
having resistance (R) = 15Q, resultant reactance
(X) = 20Q connected across 240V /50Hz AC
supply? | 240V/50Hz AC JRISITAR IR (R) =
15W, TROIHT RUGESY (X) = 20W SiSciedm R.L.C
Hlp [ UTdR Thae | U] hR]?

(A) 0.5
(B) 0.6
(©) 0.7

(D) 0.8

Correct Answer : B

28). Calculate the line current of the 3 phase
415V 50 HZ supply for the balanced load of 3000
watt at 0.8 power factor is connected in star? |
I TS Held ATe] PR QYT BIel? 3 el 415 V
50 Hz TS 3000 W TlaR e} 0.8 TR SISl

(A) 85A
(B) 5.2A
(C) 45A

(D) 34A

Correct Answer : B
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29). How will you obtain the positive reading in
the wattmeter if it gives negative reading during
3 phase two wattmeter method? | “3 3ol ¢
dicHIeR l-lc&dld AP RIHD dld"l IC{Q’HIH amﬂm%i‘r
TR YHRIHD I Y Hasar?

A) By interchanging the connections of 3 phase supply | “3
I(io—wi QRASUT AR Faed

(B) By disconnecting the connection of current coil of the
wattmeter | ICHICIT TAHM DISTd BRI [S¥HAdC T

(C) By revergin the connection of pressure coil of the
wattmeter | 3 PIgAd G Jdc B

(D) By reversing the connection of both pressure coil and
current c0|I of the wattmeter | USR hIgd 3TfoT
JAHH Bigd Ul alald B Iac B

Correct Answer : C

30). What is the purpose of the phase sequence
meter? | ol S H Hiel d‘c‘(-ll S Le!

A) To control the speed of 3 phase motor | 3 ol Hic
1%—5' held HRul

(B)_ To protect the motor against short circuit fault | e
sl c iecYIR]H qied TR

(C) To measure the voltage of 3 phase system | 3 ol Read
Flecsl HISUGTS!

D) To indicate the phase sequence of 3 phase system | 3
B

Correct Answer : D

31) What is the main cause for very low lagging
wer factor in 3 phase system7 | 3

& GiaR thdex U Ul gIvdrd T HRUI
DI 3Tg?
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(A) Due to fluctuation of voltage | ®Blccol A& TR
](i% True power due to resistive load | RCRIR G R A ]

(O Reactive power due to more inductive load | freradie
UlaR O §Sac @

(D) Reactive power due to more capacitive load | Rerrw e
JiaR SR ObbN-IICOG ﬂlSﬁob

Correct Answer : C

32). What is the rated AC voltage for single

hase domestic supply in India? YR [T
St L R RS S

(A) 110V
(B) 240V
(C) 415V
(D) 440V

Correct Answer : B

33). Which formula is used to calculate the form
factor (Kf) in an AC circuit? | AC gfbeasd e

R (Kf) IS HIUId Y dToRd STd?
Effective value
w Ki =
Average value
(B) Kf = Average value
Effective value

Effective value

© g .
Maximum value



javascript:void(0)
javascript:void(0)

Page 56
~ Averagevalue
™ Maximumvalue

(D)

Correct Answer : A

34). Which AC circuit contains the phase relation
between voltage (V) and current (I) as shown in

figure? | AC .
& Rlecol (V) 30T (1) HefleT ol
ey 3MTg?

_ H\\ \ |
F
vy I

(A) Pure resistive circuit | T YTRee Jpic

(B) Pureinductive circuit | YK U fdbe

(C) Resistance and capacitance circuit R‘%IETH 3{Tfor
HURCH HbIC

(D) Pure capacitive circuit | J[& mﬁ% e

Correct Answer : B

35). What is the relation between the line voltage
(VL) and phase voltage (Vp) in star connected
system? | TR d-dcs RICHHE d12- &lecsl (VL)
3101 Tl glee ol (VP) TiTd B1d Hae 3Mg?

W)V = JEUP
(B) VL - 3VP
© =w%//3
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® V, =Vp/3

Correct Answer : A

36). What is the power factor in a 3 phase power
measurement, if two wattmeters are showing
equal and positive readings? SR I deHleR
@H&WWTWQII@I 3{cilcl o) 3 ol
UTeR HIYTHE YldR thaex BT S5 ?

(A) 0

(B) 1

(C) 0.5

(D) 0.8

Correct Answer : B

37). What is the formula to calculate the three
phase power (P) if the line voltage is (VL), line
current is (IL) and phase angle is ('6)? |

leed (VL), qaTg (IL) 301 Bl TId ('9")
I T ol UiaR (P) HISTUTT I HI0Md 3Tg?
(A) P=3VLILSin®

(B) P=3VLILCos®

(C) P=43V, I Sine
(D) P=,3V_ I Cos8

Correct Answer : D

38). Which load condition the phase currents of a
3 phase circuit are same? | 3 bS] Hihcd ool Ydig
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ST dIS RUAId JHH 3Ted?

(A) At balanced load |a?|’a=\=r?ﬁw
(B) At unbalanced resistive load | 3RigfAd UfaRIU® dreaR

(C) At unbalanced inductive load | &Hgft\ﬂd HNTHATHSD

(D) At unbalanced RLC load | &Iﬂ_gﬁ’l?f RLC AR

Correct Answer : A

39). What is the formula to find the 3 phase
reactive power (PR) if the line voltage is "VL" and
line current is ‘IL'? | S Oslct\ri VL' &Tfﬁ[?ﬂé_*[
HIC 'L 3R 3 ol RUfdeeg UleR (PR)
NYUYT G B 3Tg?

(A) Pr=VLIL

8) Pr=3V, | Cosb

© Pr=+3V ) Sin®
(©) Py =+/3V, |, Cos®

Correct Answer : C

40). Calculate the apparent power of a star
connected 3 phase load, if it is connected across
3 phase 415volt/50Hz supply at 0.8 p.f and the
phase current is 10 Amps. | TdTE]l

cbcwl 3 ol dieT TqF ATHAT! TTUFET &1, SR d

T 3G 415 TBle< / 50 Hz GRIST 0.8 p.f R
YR oI ST S 1 10 She S

(A) 12.45 KVA

------ IO AT R L L
Contact - 9370948482, 8055403224, 9325721873
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(C) 5.75 KVA

(D) 7.188 KVA

Correct Answer : D

41). When the resonance will occur in R-L-C
series circuit? | " 3R-TdA-T! RISl AibeAH TG
St gRa?

gA”% Inductive reactance (XL) is zero | IR Ufafesar (XL) ]

(B) Inductive reactance XL) is equal to capacitive

reactance (XC&H% (XL) ﬁ'QHET\‘T (XC)

(C) Inductive reactance (XL) is greater than capacitive

reactance (XC) | IR& Tfdfhar (XL) FHufdfed Rudeg (XC) Teq
A3t 38

(D) Inductive reactance (XL) is less than capacitive reactance

(XC) | ESTded Ruage= (xL) Hufdifed Ruge=a (XC) Ue S 3

Correct Answer : B

42). How the lagging power factor (P.F) can be
improved in AC circuits? | AC W@f SIam
Uik thaeX (PF) ST GURTT SIS Ubll?

(A) By connecting resistors in series |‘T%IWW@[ Gi|§;l
(B) By connecting capacitors in series | FHURIex RIS

(C) By connecting inductors in series | WW@[ FI»-|§:|

(D), By connecting capacitors in parallel | PUIMICT
Qo RaaHe SiigT

Correct Answer : D
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43). What is the phase displacement in a single

hase AC circuit? | 1 ol Q.“v‘ﬁ. gohic T ol
fobail IR 3

(A) 90°
(B) 120°
(C) 180°

(D) 270°

Correct Answer : A

44). What is the formula to calculate the
resonance frequency? | 3¢ dRARd]
gA 1Y ?

(A) 21-[\/[6

1
.

1
QO —\T=
27.C
(D) —l
2r+/LC

Correct Answer : D
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45). What is the reactive power in a 3 phase
system, if the active power is 4 KW and the

apparent power is 5 KVA? | "3 Thol dTHAed
Rtfdes diay fodt offg, SR Aiohd UlaR 4 KW 3R
3101 IUS UTaR 5 KVA 3RId TR?

(A) 1KVAR
(B) 2 KVAR
(C) 3 KVAR

(D) 4 KVAR

Correct Answer : C

46). What is the line voltage in_3 phase system if
the phase voltage is 240V? | 3 Tl RIEIH A8 SR

ol Glecsl 240v 3T R ATsH galecs Tl 3
?

(A) 380 Volt
(B) 400 Volt
(C) 415 Volt

(D) 440 Volt

Correct Answer : C

47). What is the formula to calculate the line
current (IL) of R-C parallel circuit as shown in the

figure? | STHaT GRITITIHTO R-C THITR
ﬂ%ﬁmﬁf&%n Ud1E (IL) PIGUINT3! HIUd G 3Me?
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(3{Thal 11 < IL e dGal)
L

h b

o [ T

A L =Ik-le
(B) I, =Ig+Ig

QO 1L IR+

D) 1, =irtilc?

Correct Answer : D

48). Which 3 phase system requires the artificial
neutral to measure the phase voltage? | CARI !
ol RRCHE 1ol Glec sl HISTUITAST HiAH de'
31D 3T8?

(A) 3 wire star connected system | 3 AR IR Frdes RIEH
(B) 4 wire star connected system | 4 AR ¥R Facs R

EC) 3 wire delta connected system | 3 dAIIY ST FIRS

(D) Scott connected system | Whic Hde RieH

Correct Answer : C

49). What is the standard frequency of AC supply
in India? | WQ@WT%T O dRAR]
?

(A) 25Hz
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(B) 60 Hz

(C) 50 Hz
(D) 75Hz

Correct Answer : C

50). Which conductors are used for the over head
distribution lines? | C
PHodex IR Sdla?

(A) Insulated conductors | srﬁaES dlgh

(B) Insulated solid conductors | 5&10\125 Yq digh
(C) Bare conductors | 3US digdh
(D) Two core cable | W@ﬁx’ﬂ

Correct Answer : C
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NIMI Mock Test

1). What is the total voltage of the circuit as shown in the figure? |
3TPHdid TRIGATIHIU Hicbed THUT leed fabdl 3MTg? ?

L =
| RET-T)
il fed
| e

Lep g LAl —_— | _

(A) 1.5 Volt
(B) 6.0 Volt
(C) 7.5 Volt

(D) 9.0 Volt

Correct Answer : A

2). How the positive plate changes, after the complete charging of lead
acid battery? | TilS 3IRIS quf "—lﬁ%ﬁ%@@ﬁf ?

(A) Sponge lead (Pb) | ¥IST TS (Pb)
(B) Lead peroxide (PbO,) | §SUR 3{TaTs< (PbO,)
(C) Lead sulphate (PbSO,) | TS Jethe (PbSO,)

(D) Water | OT0ft

Correct Answer : B

3). What happens to the terminal voltage of a cell if load increases? | HR
dTe e AT T glecord BT gld?

(A) Increases | gredr

------ (B -Becreases |-BHEGIAF = = = === === === == == - s s oo
Contact - 9370948482, 8055403224, 9325721873
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(C) Falls to zero | QquEﬂ?ﬁ

(D) Remains same | PIelal WRIUMH Bid el

Correct Answer : B

4). Why the vent plug is kept open during charging of a battery? | acy]
AT BT Wie W 3T Sadid AT B BRI &n%?

(A) To escape the gas freely | T Herd SIVIRITS]
(B) To allow oxygen enter inside | det g SfiRite QT@WN’IBQI
(C) To check the level of electrolyte | SaidcIdTscdl UTA®! dUTIUATEG A

(D) To check the colour changes in the plates | el W B0 SGans quiaudTdbal

5). What is the purpose of the hydrometer is used during charging of

battery? | 9] TS HRAM BRASHICRN dTUR HRITTST Bl SITal?

Correct Answer : A

(A) To determine the AH capacity | TUT &HdI GIPGEZUIRI]
(B) To measure the battery voltage | dcxl Bleesl AU
(C) To measure the battery current | gext IqH HISTuaRITat

(D) To measure the specific gravity of electrolyte | sﬁ?@ﬁ?n'sa% fafRRm m

Correct Answer : D

6). Which source of energy is used for satellite communication? | 3U%le
Jordl HIUIT Fld dTuRl Sl

(A) Wind mill | Ta-Tddd!

(B) Solar panel |€R’fﬁﬁ

(C) Small generators | gl SRR
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7). What is the purpose of the separator in lead acid battery? | die TRre
e fqUTSIwTaT SET H1 3MTg?

(A) To provide a path for electrolyte | sﬁa@aﬁzwnﬁ%wrﬂﬁ

(B) To hold the positive and negative plate firmly | Oifsicie @ fiIcies Wie AR dauamrd!

(C) To avoid short circuit between the positive and negative plates | §PRTHD 3for
TP RIA® W G i HiPbe eToiarars!

(D) Small gas turbine | T8 719 cdigA

Correct Answer : B

(D) To keep the positive and negative plate in a sequence array | Ulisiiead for fAaifes
Wiedl 3hH SRA SqUIHTa!

Correct Answer : C

8). Which.is used as a top layer of a solar cell? | IR I a=dl Y WU
%wamwaﬁr?

(A) Silver | giat
(B) Silicon | Rafer®1
(@) Copper|?ﬂ§{

(D) Aluminium | TegAad

Correct Answer : B

9). Which cell is most often used in digital watches? | TIATYRT Sioiled
YSUTes Hed Yol TURAT?

(A) Voltaic cell | Blecad Id

(B) Lithium cell | farfdgs I

(C) Mercury cell | URT I

(D) Lead acid cell | ¥ RS ¥
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10). Which device converts the sunlight into electrical energy? | CAIK]
SUHUT PIUS TR faggd Ioid TUIaR dRl?

Correct Answer : C

(A) Photo voltaic cell | wicl @FIE’VG?@H
(B) Liquid crystal diode | feif@ g fopied SRt
(C) Light emitting diode | T3¢ 3HCIT SAIS

o

(D) Light dependent resistor | dac fSuge YoreR

Correct Answer : A

11). What is the effect on output power with respect to the temperature

g%olar cells? | TR U= AMUHMTAT HEHId 3T¥cyc UlaRaR HIg
?

(A) No effect due to change in temperature | GIREICIRIG Gidc’ll‘j,o}) DIUIdTG! GRUME BId Tat

(B) Increases with increase in temperature | dTUHTE dlced 3T$HCYC UiaR dled
(C) Decreases with increase in temperature | dTIHIT dlecdTH THCYC UTaR HHI ﬁ?f
(D) Decreases with decrease in temperature | d[UHIT FHH! AT AT YL FHH! _E?I?T

Correct Answer : C

12). How the capacity of the batteries are specified? | Se]idl &Hdl BT

ATy Bl Sra?

(A) Volt
(B) Watt
(C) Volt Ampere

(D) Ampere hour
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Correct Answer : D

13\)’ What is the effect of buckling defect in a lead acid battery? | SIS
31-1¥rg et T T IcHT a1 GVl D1 YU Bidl?

(A) Bending of the electrodes | SATE ST ATHSYUI YT gral
(B) Reducing the density of electrolyte | T |¢|I$Ctll g HH B0

(C) Increasing the density of electrolyte | Eﬁ@ﬁm Tdl diedul
(D) Increasing the internal resistance | SIS foRIY aTeal

Correct Answer : A

14). What does the letter 'Z' indicate in the formula M=Z I't? [ M=Z | t TT
AT ‘2" 3{&R BT GRIad?
(A) Time inseconds | CERSE AL

(B) E.C.E ofelectrolyte | SAaeIcTgcdl ECE
(C) Amount of current in Amp | ECIREIRER]

(D) Mass deposited in grams | WHWH@[

Correct Answer : B
). What is

5). What is the Electro Chemical Equivalent (ECE) of 5|Iver? |€|'I—QPIE|T
(Quac] pHlnc SEIGDOE;Q'iC) b {-IJ-I{-LQ"LI (ECE) Udel

—

(A) 0.001182 mg/coulomb
(B) 0.01182 mg/coulomb
(C) 0.1182 mg/coulomb

(D) 1.1182 mg/coulomb

Correct Answer : D
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16). Which is used as an electrolyte in lead acid battery? | SEREE]
d’Y gaidcldlgc WU B dIURdld?

(A) Hydrochloric acid | ETCI@W RIfersircs

(B) Ammonium chloride | &Iﬁﬁm?ﬁhﬂﬂf

(C) Potassium hydroxide | PRI E’N@lﬁlﬂﬁ@' 3HoTTS
(D) Diluted sulphuric acid | ?ﬁ'ﬂlﬂ?‘b_ﬂﬁiﬁ I Rrs

Correct Answer : D

17). What is the function of fine selector switch in battery charger? | e
TSl BHRAMI BaSIHICd] dTIR HRITAT BT ST ?

bl a1 —

LE—

5

[}
=] —
-

FY *J ikr ¥r
@)
r

A ru_mg
[

(A) Selection of current rating | P3¢ T Fasvar
(B) Selection of charging time | IfoiT des Hasuard
(C) Selection of voltage range | Gleedl Yol MaSUar

(D) Selection of charging method | © ST Uegd Hasuar

Correct Answer : A

18). What will be the effect if one cell is connected with reverse polarity
in a\par\allel combination circuit? | YHIAR TSI gfbeas Udh I 3dic
Ydd- SIS ®Ig URUMH glga?

(A) Voltage become zero | G leco] ][ gid
(B) Become open circuit | 3N Ffbe s
(C) Will get short circuited | e Tfhe gla

Contact - 9370948482, 8055403224, 9325721873
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19). Which part is losing its weight during the electrolysis? | Eaa@ﬁ*ﬁrﬂ
R BT lﬂ?Tr%raGHa‘iIﬁgﬁ?

Correct Answer : C

(A) Cathode|$%ﬁ€

(B) Anode | 3-8

(@) EIectronte|3€1Tvl?;ﬁ?1'lg_cr
(D) Separator|@ﬂﬁ_&

Correct Answer : B

20). What happen if battery is wrongly connected during the charging? |
TN GBI dcs] b= UGd Sisdl Aed B glga?

(A) Drawsvery high current | @4 3 B¢ Predl
(B) Draws very low current | U FHI BRe Hledl
(C) No current flow | A HIC Tl

(D) Works normally | A0 B B

Correct Answer : A

21). What is the reaction that takes place in negative plate of lead acid
battery after complete discharging? | %%%ﬁﬁm dre URrs
SN THRIHD WCHE B ?

(A) Become sponge lead(Pb) | TGl die =T (Pb)

(B) Become lead peroxide (PbO,) | e CIQ\ICR‘HiS (Pb0O,) &1
(C) Become lead sulphate (PbSO,) | e ghe (PbSO,) &1
(D) Water | TTOft
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22). Which material is used to make negative plates in lead acid battery?
| d8 3-R1E dedid Al EFﬁ%?ﬂH

(A) Lead dioxide | %WW’I’%@
(B) Sponge lead | T s

(C) Lead peroxide | AW &ﬁaﬂﬁg
(D) Lead sulphate | dS gethe

Correct Answer : C

Correct Answer : B

23). Which is used as a positive electrode in a dry cell? | ETCI@FTII@
$Q'10ICI6 U1 dlUxdld?

(A) Zinc | ST (ZN)
(B) Carbon | ®ia-T
(C) Copper | @ (cu)
(D) Lithium | feriiad (L)

Correct Answer : B

24). What is the Electro Chemical Equwalent (ECE) of copper? | GIERI!
LIGE] $Q'10PCIObIJ-IObQ'1 $I€bO6Q'1¢ DY

(A) 0.329 mg/coulomb
(B) 0.329 g/coulomb
(C) 1.1182 mg/coulomb

(D) 1.1182 g/coulomb

Correct Answer : A
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25). Which method charges the battery at low current for long period? |

P Ugd <Y BIATadITST HH HcdR dest el hd?

(A) Boost charging method | S¥¢ oI UGd
(B) Trickle charging method | EW TSl Uegd
(C) Constant current method | @R Bic ued

(D) Constant potential method | RR @leesl Uead

Correct Answer : B
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NIMI Mock Test

1). What is the megger reading in a dead short wiring installation? | ss
¢ TR SRR fm%ﬁe‘hm 3rer?

(A) 0 MW
(B) 1MW
(€) 500 MW

(D) Infinity

Correct Answer : A

2). What is the purpose of tin coating on the copper fuse wire? | DI
RIS IR feA 3eX B

(A) Withstand high temperature | SITRd TGHHTGR BT HRUATHIIAT

(B) Increase the fusing factor | q{[f%m e dlefquarh Il

(C) Prevent the oxidation of copper wire | disdT=AT AR TS Uidafierd HT
(D) Increase the mechanical strength | BIEICRIESICIA IR

Correct Answer : C

3). What is the type of wiring as shown in the figure? | &Wﬂﬁ
GRIGITYHTUl

UHR B HTG?
/.

g spase vasecan B

(A) CTS wiring | T1.E1.T9. arIRT

Contact - 9370948482, 8055403224, 9325721873
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(C) PVC conduit wiring | U1.1.91. ®legc ar™afT

(D) PVC casing and capping wiring | Ut g1 1. i ol

Correct Answer : B

4). What is the expansion of AWG? | U, S& St AWG d U;UT:I'I_q' Dh1Y?

(A) American Wire Gauge
(B) American Wire Grade
(C) American Wire Group

(D) American Wire Guard

Correct Answer : A

5). What is the fusing factor for high rupturing capaC|ty fuses (HRC)? |
B XU S YRICT TSrar WS haex

(A) 1.0
B) 1.1
(€ 14
(D) 1.7

Correct Answer : B

6). What is the expansion of MCCB? | MCCB dI IR BT 31M8?

(A) Moulded Case Circuit Breaker
(B) Miniature Case Circuit Breaker
(C©) Mini Case Circuit Breaker

(D) Micro Case Circuit Breaker
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Correct Answer : A

7). Which type of insulation tape is used for domestic wiring? | ‘ERHE“
IRARITA! JhRAT IR Ul AToR bl SITdl?

(A) Rubber tape | YR <y
(B) Friction tape | gyur g

(C) PVC tape | Gigieit 2
(D) Varnished cambric tape | I BHisich U

Correct Answer : C

8). What is the type of diagram as shown in the figure? | &W‘?ﬁ
Sl d[Hl YhX hIY 3“”%?

I 1
1 |

(A) Wiring diagram | araiT STOUTH
(B) Circuit diagram | G&Ic SAUH

(C) Installation plan | SR W

(D) Layout diagram | d-3T$He SIUH

Correct Answer : A

9). Which types of accessories are used to tap the supply for a portable
appliance? | Ticad SUBRUMNTS! QRAGT U HRUIMNTS] & Ul YR
RECRUKCIENRINSIRIRE

Contact - 9370948482, 8055403224, 9325721873
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(B) Holding accessories | gIcaMT 3 RIS

(C) Outlet accessories | 3THede 3 T IS
(D) Controlling accessories | U&= RTRIS

Correct Answer : C

10). What is the name of the diagram as shown in the figure? | &mﬁ
EEERICEIRE I

(A) Layout plan | -3¢ &

(B) Wiring diagram | a1 SIEITH

(C) Installation plan | ET\‘E}I%T{FT (NI
(D) Schematic diagram | fepridie Su™

Correct Answer : C

11). What is the name of the symbol indicates as shown in the figure? |

919 B 3ATR?
Q0

(A) Table fan |éTSIF[fIJ’FT
(B) Ceiling fan | Rreii e
(C) Bracket fan | Sidc B+

(D) Exhaust fan | TRIRES T

Correct Answer : B
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12). Why the looping-back (loop in) method is preferred in domestic

wiring installation? | EIU!E” & U <1 Utad A RNIRSIGE

(A) Easy to identify the faults | QY JNYTITETST G
(B) No separate joints are used | A7 SATg<H HIVAT STTRIHAT AT
(C) More number of tappings can be taken | 3% U HTear Iard

(D) More number of sub-circuits can be made | SIT¥d dd gfche §-7aadr Adrd

Correct Answer : B

13). How many two way switches minimum required in godown wiring
circuit to control four lamps? | @R ICCRRRIER Elv_{'UJI'\‘:l'IBQ?

GibeHe feedT forcit & A 3aTD 3HTea?

(A) 2

(B) 3

<€ 4

(D) 5

Correct Answer : B
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14). What is the name of the symbol as shown in the figure? | B{W
QIR IUHIUl [d5ld —ld oy CHT%?

V

(A) Bell push switch | SR Rad
(B) Two way switch | g-a BSEl

(C) One way switch two poles | fc:-tnﬁ g o kg
(D) Multi position switch single pole | RiTe Trer AedtuifeizrT &=

Correct Answer : D

15). What is the full form of BIS? | BIS I HBIH BT 3T8?

(A) Board of Indian Standards
(B) Bureau-of Indian Standards
(C) Board of International Standards

(D) Bureau of International Standards

Correct Answer : B

16). What is the maximum PVC conduit size to make safe cold bending? |

Y& DIes dSNT BRIl Ul Siscdl AIgel fdelt S¥c?

(A) 12 mm
(B) 19 mm
(©) 25 mm

(D) 50 mm

Correct Answer : C
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17). Why separate wiring is recommended for home theatre wiring and

power W|r|ng7|‘€R‘1?'ﬁaT€IﬁT[ f¥eR a9 rar 9T diairest

HRUTTE] el BT adld

(A) To avoid the mechanical vibration | TifA® $HU- cIsugETe!

(B) To reduce the power loss | dIST diel HH! HRUTe!

(C) To avoid the electrical interference | ﬁﬂ:{ﬁ gﬁ@}t{ TGS UGS
(D) To maintain the voltage level constant | Bleeo! Uldes! R SauariTa

Correct Answer : C

18). What is. the name of the conduit accessory as shown in the figure? |

Phege TRITRI H1d S 3M18?

(A) Solid bend | Il d€

(B) Solid elbow | icis Tedl!

(C) Inspection Bend | ETQ'CFZFIQS'

(D) Inspection junction box | qUTrf SfaRH ST

Correct Answer : C

19). What does the symbol marked ‘X" indicate as shown in the figure? |
amammmé X' Frgifohd forg B GRiaa?

-~ ‘“ﬁi -
X—_ | = -
N Ll
&


javascript:void(0)
javascript:void(0)

Page 80
(B) Number of switches to be connected | o=t T gxifadr

(C) Number of battern (or) pipe to be fixed | Tq:a::::::-‘fE:[ fohar urguh S
(D) Number of clamps (or) clips to be fixed | I fohar foeeg <t T exifadr.

Correct Answer : A

20). What is the maximum load on each power sub- circuit as per BIS? |
BIS TUR U® UlaR a-Hfchedr SIRid SR YR bl 3MTg?

(A) 2000 W
(B) 3000 W
(C) 5000w

(D) 6000 W

Correct Answer : B

21). What protection offered by residual current circuit breaker? |

fIT8g3d Bic YPic SHR Pl GINTIRI TLETT Sara?

(A) Protection from the electric shock | 3@@3? m TRE{0
(B) Protection from the over load | SIfHRTUTRA TRE&0T
(C) Protection from the short circuit | e ﬂmﬂmﬁ TRe&fur

(D) Protection from the over voltage | 3G@RG IcCSTUI HRETUT

Correct Answer : A
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22). What is the purpose of the ELCB? | ELCB dIl 3 DY 3HTg?

(A) Protects the equipment from over current | 3R HIYCURA IUBRUND TRET Bl

(B) Protects the equipment from leakage current | ﬁ@%’ﬂcaﬁf PC AT Jif-ex HIu

(C) Protects the equipment from short circuit | e HGOCHI{;I;I SUBRUTT TREUT Bl

(D) Protects the equipment from over voltage | 3R ec SURIH IUHRUN TREUT HId

Correct Answer : B

23). What is the disadvantage of the tree system of wiring of

gﬂnuéltistoried building? | SgHSIcl SHRGAT IRARTTAT G&YUIIAEl Hid dieT
?

(A) Easy load balancing | AT JQI=IT BRIl

(B) Constant voltage distribution | UHARY @lecs [GHNTO BT

(C) Offers minimum voltage drop | Wﬁwmﬁqﬁm

(D) Difficult in fault finding with many fuses | 3[[H® WGE g1V ATLUVATd BT

Correct Answer : D

24). What is the term for the time taken by a fuse to interrupt the circuit
in fault? | {[dqgd HSSId IV I AR TS o HS TSI BRUGThI
Yddiedl deseT IR P WUIIA?

(A) Time factor | aé‘q Thdex
(B) Fusing factor | RINSHT haeR
(C) Cut-off factor | Fe 3TH e

(D) Fusing current | TfSHT dHRc

Correct Answer : C
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25). What is the type of the fuse as shown in the figure? | G{Iﬁﬂ
QIR IUHIU YWoidl UnIX iy \"rIT%?

e

(A) Rewirable kit-kat fuses | RATIR HRUGRINY fabe-dhe Ryl
(B) High rupturing capacity fuse | 19 ST Ul LT
(C) Ferrule contact cartridge fuse | T R RS m\_ﬂ

(D) Diazed screw type cartridge fuse | IR A RSl (SILSIS @E’I’%’CD e TSN
T BlesR

Correct Answer : B
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NIMI Mock Test

1). What is the name of the symbol as shown in the figure? | &Wﬁ
QIRAqcYIUHIYl [d-eld ld ;Y G‘I'I%'?

4

(A) Bell push switch | STTgRT R
(B) Two way switch | g-ér%%r

(C) One way switch two poles | fc;-lﬂa 94 d e
(D) Multi position switch single pole | Rivre v A iuifoive feag

Correct Answer : D

2). Where the Iron Clad Double Eole (ICDP) main switch-is used? | STId
il Sdd Ul (ICDP) B Raa §& HIuRdra?

(A) Large industrial installations | AT eI SeraRHeE

(B) Large commercial installations | eyl ATagIR® RITTAT

(C) Single phase domestic installations | Rivra o s S s?i'ﬁm el
(D) Three phase power circuit installations | I iR Afdhe A

Correct Answer : C

3). What is the tool used to bend the metal conduits? | ?II@W
DI HIY ATURe Sild?

(A) Hickey | fg®t

(B) Coupler | PUR

(C) Combination pliers | IS Udh S
(D) Bench vice | G| @_cﬁﬁﬂ
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4). What is the name of the accessory used in electrical appliances as

Correct Answer : A

shown in the figure? | &W?r faggd SUHRUTHE IRl
SITOT=T 14 H1 3ATe
P

(A) 2 Pin socket | 2 fis Side
(B) Three pin socket | i foT S
(C) Iron connector with direct entry | 3T Pdex Ay SRR Ev_:ﬁ

(D) Flat connector with side entry | Wi HAaRHA fay HI:{S Q?j

Correct Answer : C

5). What is the megger reading in a dead short W|r|ng installation? | SIS
¢ TR SRR o el FesiT opeh ardrer?

(A) 0 MW

(B) 1MW

(C) 500 MW

(D) Infinity

Correct Answer : A

6). What is the expansion of MCB? | MCB. %[q:Uf'_-ﬂ_q’W?

(A) Minute Control Breaker
(B) Miniature Circuit Breaker

(©) Minimum Current Breaker

""" (D) “Maximum Current Breaker- -~~~ """~~~ ~"~-~-~-"-"-""""°"°"°"°"°"°"°"°"°"°"°"/°"/°"/°"°"°"°"°=°=°-°-°
Cont act - 9370948482, 8055403224, 9325721873
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Correct Answer : B

7). What is the type of wiring as shown in the figure? | &mﬁ
GRITITYHTON

UHR B 3HTg?
/.

gy v R

(A) CTS wiring | Tl.E1.09. arai

(B) Cleat wiring | Feiie arafeT

(C) PVC conduit wiring | Ul.&81. 3. ®lgge araRkT

(D) PVC casing and capping wiring | Ut.&L&T. HEITT BUINT

Correct Answer : B

8). Which types of accessories are used to tap the supply for a portable
appliance? | Ticad SUHRUMNTS YRAGT U HRUINTST o Ul bR
SUSHIUI TR SITTT?

(A) Safety accessories | T 3 RIS

(B) Holding accessories | BitalT 3 RG]

(C) Outlet accessories | 3T cdc 3 TS
(D) Controlling accessories | =& 3 FRIIRIS

Correct Answer : C

9). What is the name of the symbol as shown in the figure? | &Wcﬂﬁ
ERIICITHHT ATd BT 3767
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Q,

(A) Link | dli
(B) Fuse | /ST

(C) Pull switch |EJ,?1@?[

(D) Plug and socket | W 9 Hidbe

Correct Answer : D

10). What is'the name of the symbol indicates as shown in the figure? |

AP dld GRIGEITIHTT 8T A1d B 3M8?

Q0

(A) Table fan | cad %A
(B) Ceiling fan | fRIGHT B
(C) Bracket fan | Shc B

(D) Exhaust fan |Q?=|'\‘:|'\'Rfl3_rf

Correct Answer : B

11). What is the purpose of underwriter’s knot for pendent holder
connection? | SIC'tR HaRA AL &SQ%ISCQ el 6q\d9lq

(A) Avoid loose connections | qq H-a TS U]
(B) Increase mechanical strength | TiFieh el AT dUdTTA!
(C) Prevent excessive cap cover pressure | P HgR SRl TSI TR&T

(D) Reduce the strain from the terminals of accessories | 3 ST effea LIGGEN
<707 HHT BRI
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Correct Answer : D

12). Which electrical accessory belongs to general classification of
accessories? | 3i: SRS o Rd T HIuTdl
3Tt Ad

(A) Fuse | TS
(B) Ceiling rose | T WATET JaTd
(C) Intermediate switch | W@ﬂﬂ?%ﬂ

(D) Pendent lamp holder | UeC o Blcey

Correct Answer : B

13). Which type of circuit breaker is used above 200 A current rating? |
ST 200 A IR HIUAT YHR Alhe ShY TUR

(A) Miniature Circuit Breaker (MCB)
(B) Earth Leakage Circuit Breaker (ELCB)
(©) Moulded Case Circuit Breaker (MCCB)

(D) Residual Current Circuit Breaker (RCCB)

Correct Answer : C

14). What is the effect on the low current rated cable used to connect
the higher load? | STRd IS SITSUATATST AR SITUMT SHT e XC
Bl HeaR HII URUTH gIdl?

(A) Power loss decreases | s 'G’I:ﬂ FHHI _eﬁﬁ

(B) Voltage drop remains same | glecl \§TL4 qq 84

(C) Voltage drop decreases | Blecol §TL4 G| G\Iéﬂm
(D) Cable damage due to heat | Wﬁ'ﬂé’ HId WIS Eﬂ'éﬂ

Correct Answer : D
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15). Which classification of accessory the ceiling rose is classified? |

R ore aftfeur ST UeRd HRard?

(A) Outlet accessories | 33 T 3 T

(B) Safety accessories | T 31 RIERIS

(C) Holding accessories | Bl 3 RIS

(D) General accessories | HAATYTROT 3f - A o7

Correct Answer : D

16). Why separate wiring is recommended for home theatre wiring and
power wiring? | TR arT, FAdeR a9 UraR araf aifae)

YUY Tl DT Sdrd?

(A) To avoid the mechanical vibration | i HU- TS U

(B) To reduce the power loss | dIST dieT SHHT SO

(C) To avoid the electrical interference | fdgga TG TS UATATST
(D) To maintain the voltage level constant | Gleeo U] fRR gaugrErat

Correct Answer : C

L%What is the name of the circuit diagram? | qfthe SREITHT 19 BT
?

g
LY
LAY

.
b

S

(A) Two lamps dim operation only | als! féd Hg Uedia
(B) Two lamps controlled by one switch | GF fad et Raa = AR o
(C) Two lamps controlled by two switches | a9 fad &I & = Fa=ld &dl
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(D) One lamp bright and two lamp dim operation | U fgar 9rse 9 e e Uea

Correct Answer : D

18). What is the function of circuit breaker? | qPHIC PR DI DHIA?

(A) Connects the circuit automatically at abnormal condition | 3{HTHT ycfia afde
TUI3TY

(B) Makes the circuit automatically at abnormal condition | SIEHTHT fycfia smatemy wfdhe

(C)_ Breaks the circuit automatically at abnormal condition | SIHTHIA fRrdia smutamy
;ré%—e Gfed Hd

(D) Breaks the circuit automatically at normal condition | 9THII i smaismy gfdhe

Correct Answer : C

19). What is the expansion of AWG? | B. S&g St AWG d q:Uf-_-I'IH PIY?

(A) American Wire Gauge
(B) American Wire Grade
(C) American Wire Group

(D) American Wire Guard

Correct Answer : A

20). Which is employed in circuit breaker for the thermal over load

protection? | YHd IR TS TREUIRITS! Hfthe ShRHed HIvdT aTuRal
EIGIK

(A) Bimetallic strip | CIDIR N ED ??ﬁ'q
(B) No volt coil | a Gﬁ?c’ $\I'3FT
(C) Mechanical vibration | TifA® Hud

...... (D)-Magnetic:epulsion.pﬂaﬂﬂ“qm-------------------------------------
Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : A

21). What is the purpose of the ELCB? | ELCB dI 3 DY 3AT?

(A) Protects the equipment from over current | 3R HYCURIT UGN TREUT Bl
(B) Protects the equipment from leakage current | ﬁ?ﬁ?{'ﬂgaﬁf P AT HIT-eR B0

(C) Protects the equipment from short circuit | e {-Ilraocl-llij;-l SUBRUIT TREUT Bl

(D) Protects the equipment from over voltage | 3‘|.\|C6‘{06\|Q%UNN'¢L"| SUBRUN TRETT B

Correct Answer : B

22). What is the name of the BIS symbol as shown in the figure? |

3P dld GRIGEITIHTT BIS RIS 1 S/ 318?

(A) Lamp | <

(B) Two way switch | ‘g;-z?f e

(C) Intermediate switch | 3??&[3&02’ LKl
(D) Multi - position switch | At ofor fiag

Correct Answer : C
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23). Which type of insulation tape is used for domestic wiring? | ‘ER?!('"
DUl HonlR=] 9~ 1RI1 cUdl diYx opil ST

(A) Rubber tape | ISR Y

(B) Friction tape | YT ¢

(C) PVC tape | Gigieit 3

(D) Varnished cambric tape | I e ¢T

Correct Answer : C

24). Why the looping-back (loop in) method is preferred in'"domestic
wiring installation? | SRl IRIRITHEN U 241 Utad T dTURGll Sild?

(A) Easy to identify the faults | G TYTITA Gl
(B) No separate joints are used | AATD 'Glm HIUGTRIT STRAHdT T
(C) More number of tappings can be taken | 3T ST PTedT Adld

(D) More number of sub-circuits can be made | SII¥d dd gfhe S-adT Aard

Correct Answer : B

25). What is the name of the circuit as shown in the figure? | &Wcﬂﬁ
14 BT 3T5?

“ mm_ﬁ] -
» L 5 "y
(A) Tunnel lighting wiring | T-TdT AT TRIRIT
(B) Corridor lighting wiring | PHRISISR ARSI IR

(C) Godown lighting wiring | TTSTS ARSI qRRIT
(D) Staircase lighting wiring | fSTT @8 AR

------ CorrectAnswer rC - ----------=--=->----- - - - oo ------m--

Contact - 9370948482, 8055403224, 9325721873
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26). Which type of lamp holder is used for the incandescent lamps of
above 300 watts? | 300 JCHeIT R SHSC QST BHIUTIT YHRET
f&aT BTy aTuRel Sirdl?

(A) Edison screw type holder | UECESE| Ih UhR YRP

(B) Goliath Edison screw type holder | MieraTy ufEa= Ep YPR YR
(C) Porcelain angle holder | TiRfdT o119 4R®

(D) Porcelain batten holder | UiRfcH ded YRS

Correct Answer : B

27). What does the symbol marked ‘X’ indicate as shown in the figure? |
a@a?qmnr% ' fergifepd fore P axiad?

= ke
il <= B
s

(A) Number of wires run on the limb | ardai EE E'Eﬂﬁ_cﬁ

(B) Number of switches to be connected | et e gxifadr

(C) Number of battern (or) pipe to be fixed | §-Tc fdhar aTguT T

(D) Number of clamps (or) clips to be fixed | I fohar foaey =t Te axifadl.

Correct Answer : A

28). What is the purpose of the circuit diagram in wiring installation? |
RN HE Goblc SIAUTHET IER BI?

(A) To show the physical position of accessories | SHiERTora! fRUdt grRaqul
(B) To estimate the various accessories in the circuit | SRS AT B0
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(C) To estimate the cost of various accessories | fafay Iumur=ar fhadan siger argu

(D) To show the schematic connection of the circuit for a specific task | ﬁﬁnz DTH
g

Correct Answer : D

3’% What is the name of the wiring diagram? | IR SRAITHT 19 BT
?

[
(A) Staircase wiring | o ar st
(B) Godown wiring | TSI drRIT

(C) Hostel wiring | BIR¢d ARRRIT
(D) Tunnel wiring|€7|FTaTqﬁ"T

Correct Answer : A

30). Which type of relay can be operated on both A.C and D.C supply?
A.C 3101 D.C T Gl6! RAGUTAR DIUIAT bRl Rl 3TUIT el 913 ?

(A) Ferred relay | Te R
(B) Thermal relay | Uy et
(C) Impulse relay | I fra

(D) Dry reed relay | smlia el

Correct Answer : C

31). Which electrical device is the coarse excess current protection? |

P faegfo I A ifaled faggmm TRewr 3
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(A) Cartridge fuses | ®IfcS BSl

(B) Rewirable fuses | RarRad wgs
(C) Miniature Circuit Breaker (MCB) | flIf{eR W@ fe s& (MCB)
(D) High Rupturing Capacity (HRC) Fuses | 81 IUCRIT HURIET (HRC) TSl

Correct Answer : B

32). What is the type of diagram as shown in the figure? | &W‘Eﬁ
CRUCRI B THR By g2

[y

(A) Wiring diagram | araiT STIUTH
(B) Circuit diagram | Tohic SaUM

(C) Installation plan | Wﬁ?ﬂ@ﬂq
(D) Layout diagram | - 33 e SIRIH

Correct Answer : A

33). What is the full form of BIS? | BIS T BAhIH &1 387

(A) Board of Indian Standards
(B) Bureau of Indian Standards
(C) Board of International Standards

(D) Bureau of International Standards

Correct Answer : B
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34). What is the disadvantage of the tree system of wiring of

gﬂ{%tistoried building? | SgHSIcl SARGAT dIARITAT G&YUTeal B dicT
?

(A) Easy load balancing | &S Saif=T Hidl
(B) Constant voltage distribution | QOb{-IR@ os\lc%\rl fOHRTON ST

(C) Offers minimum voltage drop | HHId HH Bleool §TH PRIl

(D) Difficult in fault finding with many fuses | 3F® RWIE &IV AUV HSI0T

Correct Answer : D

35). Which type of switch is used in the circuit as shown in the figure? |

&) ST Uh R Rad aTaRd Sifai?
T 5%

(A) One way switch | - CALE

(B) Two way switch |'g d feag

(C) Intermediate switch | m@? =
(D) Multiposition switch | HeciaiiorR &g

Correct Answer : B
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36). Which type of protection the ELCB can provide? | ELCB DI YR
TREUT TS Whd?

(A) Short circuit | TURTY
(B) Ground fault | S gy

(C) Open circuit | 3 gfdhe
(D) Over load | 3TaR @S

Correct Answer : B

37). Which wiring is suitable for temporary installations? | dTcR&T
SIS IV EIRIRY ?

(A) Cleatwiring | ciie arRIT

(B) Concealed wiring | H=lce AR

(C) PVC conduit wiring | Ul.&81. 8t ®lgge draRT
(D) Metal conduit wiring | Bcd HleYc drRINRIT

Correct Answer : A

38). Which is ’g!”e%application of DC series MCB? | D.C RIS wa 3t &l =
?

(A) AC motor | T Tlex
(B) Synchronous motor | R AR

(C) Locomotives | ?ﬁm'cﬂc_s'
(D) Air conditioners | T3R HSIIR

Correct Answer : C

39). What is the maximum PVC conduit size to make safe cold bending? |
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JREId Dles dSl HRIdl Uil hiegcd! AT fddl 3¥d?

(A) 12 mm
(B) 19 mm
(CO) 25 mm

(D) 50 mm

Correct Answer : C

40). What is the term for the time taken by a fuse to interrupt the circuit
in fault? | f[dqgd HS®Id &Y ITH AR TSl 4 He Eeld

JSN T 1Y UITA?

(A) Time factor | ETéT[ Tdex
(B) Fusing factor | qﬁﬁrﬂ'{m
(C) Cut-offfactor | Hc 3T haex

(D) Fusing current | TISHT e

Correct Answer : C

41). What is the fusing factor for high rupturing capacity fuses (HRC)? |
WWWWWW% ?

(A) 1.0

(B) 1.1

€ 14

(D) 1.7

Correct Answer : B

42). What is the function of bimetallic strip in the MCB? | MCB A&l IEILS

UgId D1 BT 3MTg?
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(A) Over load protection | 3iGY Eﬁ:mmw&m
(B) Short circuit protection | qTe ghic U TR&JT

(C) Over voltage protection | 3R Bleeol ORI TR&0T
(D) Earth leakage protection | G{Qfmmm

Correct Answer : A

43). Where the flexible cords are used in the domestic installation? |

YA RITIAd e Pl Ho dTURe™T SITdTd?

(A) In concealed wiring | qufacte arafEae

(B) In switch box wiring | g diew a4
(C) In DB box wiring |:c‘flaﬁa1”a¥r‘q'rqﬁrrm€r

(D) In portable appliances | Uicad SuBRUTTH

Correct Answer : D

44). What is the maximum load on each power sub- circuit as per BIS? |
BIS TUR U TIdR T&-Hiched? SIRad SiRd YR et 371g?

(A) 2000 W
(B) 3000 W
(C) 5000w

(D) 6000 W

Correct Answer : B

45). What is the name of the diagram as shown in the figure? | Gﬂﬁﬁ
[EEIEEIEEAREEIY
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(A) Layout plan | d-33e WH
(B) Wiring diagram | arIT STIUTH
(C) Installation plan | SRCIARIT W

(D) Schematic diagram | pHETH SIUH

Correct Answer : C

46). What is the name of the relay as shown in the figure? | H@Fﬁﬁ
TGEEICEICICI:

(A) Impulse relay | s Ral

(B) Dry reed relay | *E ST@ o
(C) Ferreed relay | Tite Xl
(D) Mercury wetted contact relay | g3} dcs dl

Correct Answer : B

47). What is the name of the conduit accessory as shown in the figure? |

TP dld GRITITIHIU h]c URITRT AT BT 3M8?

(A) Solid bend | AIdiIE 98
(B) Solid elbow | icts Tedl!

""" (€Y “Inspection Bend [THORFIAE - -~~~ " """ "--------------s-ooo-----o--ooo-
Cont act - 9370948482, 8055403224, 9325721873
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(D) Inspection junction box | GEIREIRSENE G

Correct Answer : C

48). What is the type of the fuse as shown in the figure? | &Wcﬂﬁ
RIS UehR 1Y 357

(A) Rewirable kit-kat fuses | RaTIR HRuarNg fhe-de wo
(B) High rupturing capacity fuse | BT XU Wﬂﬁ

(C) Ferrule contact cartridge fuse | hed CI'-::LI RIS d>vgi:\|\r|

(D) Diazed screw type cartridge fuse | é’ras'"craﬁ”ra“faugﬁr (grgag@as“m Micitery TSI
W gleey

Correct Answer : B

49). Which electrical equipment can be connected with ‘L’ series MCB? |
'L HTfTehT MCB 2t SiTS el ST, Rhdlld?

N

(A) General lighting | SFIRT @IS
(B) Motors | Hie
(C) Air conditioner | g3} HSILR

(D) Halogen lamp | galoH ql

Correct Answer : A

50). What protection offered by residual current circuit breaker? |
RT3 BT DI dPHR Pl QINTURET TREUT Gara?

(A) Protection from the electric shock | Eﬁ@iﬁ YIVWW TR&I0T

Contact - 9370948482, 8055403224, 9325721873
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(C) Protection from the short circuit | Q¢ Fib U TRE&T

(D) Protection from the over voltage | Gﬁ%’@m TRET

Correct Answer : A
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NIMI Mock Test

1). What is the minimum cross- sectional area of copper conductor for
flexible cord as per Bl&n% BIS TUR Adfte Hladd! HIR Heded [
B I-TaRd &7 fopdt

(A) 2.5 mm?
(B) 1.5 mm?
(©) 1mm?

(D) 0.5 mm?

Correct Answer : D

2). What is the formula to find voltage drop of a A.C single phase wiring

circuit? | AC RITa Tl Il TfchcHE A @leed! U ol YA dlfed
HRA?

(A) Voltage drop = IR volt
(B) Voltage drop = IR volt
(C) Voltage drop = I/R volt

(D) Voltage drop=IR/2 volt

Correct Answer : A

3). What is the type of test conducted in the wiring installation as shown

in the figure? | & GRIAeaTyHIY I 3 & PO
EERREICIEL SITd?
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(B) Open circuit test | 3= e e

(C) Insulation resistance test between conductors | ey AHid SYIR IR T

(D) Insulation resistance test between conductors and earth | Heded g Jd afia

Correct Answer : D

4). How the cable size is decided for the power wiring? | CIERECI RIRKIR ]|
BTl STHR DT AT Scl?

(A) By the applied voltage | RS GIeesl gR

(B) By type of load | QIS UHRIHR

(C) By the load current | @S HIc HE
(D) By the load power factor | @€ UlaR PaeigR

Correct Answer : C

5). What is the reason of the lamps are Iowmg dim and motor runnin
slow in a domestic wiring circuit? | gicheqd fad de

3TTUT Hiex He Al ITude SRl

(A) Open circuit in the neutral line | Wﬁf@ Khe

(B) Short circuit between conductors | Heacd AL WIS

(C) Low voltage fault | HHI @éﬁ Wicc

(D) Open circuit in the earth conductor | 3 dgger T A

Correct Answer : C

6). What is the type of test in domestic wiring installation as shown in

the figure? | W@W@WWWW 3(Tg?
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(A) Polarity test | gieifeel e

(B) Continuity (or) open circuit test | 3N Fihe e

(C) Insulation resistance test between conductors | Heacd qiia saaﬁm%@wé?d

(D) Insulation resistance test between conductors and earth | Heacd g Y H?ﬂﬂﬂ@lﬂq
IgReq e

Correct Answer : A

7). Which factor decides the thickness of insulation of the cables? |
e haca AN SYARd! Sllal 3RddI?

(A) Current|W
(B) Temperature | dT9HIA

(C) Power factor | UidR Wdel

(D) Voltage | Fleeol

Correct Answer : D

8). Where the service mains are to be connected in the domestic

installation? | TR A dIoAY Ffaq H-aRM @R dR $6
?

(A) IC cut out | 3TIHL.HT HTHT
(B) Main switch | 7 e
(C) Energy meter | TSIl e

------ (DJ - Distribution board | FERMEIRA G -~~~ """ """ -t--o--m--m--m-mo--o-oo
Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : C

9). Which instrument is used to test the insulation of new domestic

wiring installation? | Fd[H SRl IR S_YCIRI! Areivil HUgTare!
JUDHRUT TR SIa?

(A) Multimeter | HecHIcR

(B) Megger | AR

(C) Shunt type ohmmeter | R/ T34 3igd Hier

(D) Series type ohmmeter | RIS 23y 3iigH Hiex

Correct Answer : B

10). What is the permissible leakage current in domestic wiring
installation? | I7cll IRINAT Heltel TRAT! AlchST e Tl Srar?

(A) 1/5 x Full load current
(B) 1/50 x Full load current
(C) 1/500 x Full load current

(D) 1/5000 x Full load current

Correct Answer : D
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NIMI Mock Test

1). What is the current carrying capacity of flasher, if the current is 100
mA in each row? | Wik Y [T $IC 100 mA TSR 3RS TR HIRRA!
B Dl PIET?

o f" o

e LT “a ‘

/2 [#

(A) 50mA
(B) 100 mA
(C) 200 mA

(D) 300 mA

Correct Answer : D

2). Which is proportional for the deflection of ohmmeter needle in earth

resistance tester? | 31 IRT=T YR HeA 31§ HeX Hrcared] grerdred] b i
BT Ul 3HTg?

(A) Current in current coil | ¢ Hisadl UdTg

(B) Current in potential coil | QIR Higaqeia varg

(C) Speed of the handle rotation | g8d [hRIJUT o

(D) Ratio of the current in two coils | ﬁ%pf Eﬁgﬁ adia YAre T Juld

Correct Answer : D

3). What happens if the starter of a glowing tube light is removed? |
THH U] SIS cdl WIek HIg- CTh e BT BIsa?

(A) Switch off immediately | GEEH
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(B) Glow continuously | Jdd D!

(C) Gives low light output | &H! T 3YC ad
(D) Glow intermittently | H%EIH?ETW

Correct Answer : B

4). What is the working principle of the earth resistance tester? | 3y
IR DIUIT TaTaR B HAl?

(A) Self induction | b TSaRIT

(B) Mutual induction | RIH3(A S SIH

(C) Fall of potential method | BId TP Uie RIed Used
(D) Fleming’s left hand rule | WWWW

Correct Answer : C

5). What is the effect if a person receives a shock current of 20 mA? | 20

mA M T gad! d BT URUTH ST0rda?

(A) No sensation | HdeHT et
(B) Painful shock | AgATge X1
(C) Heart convulsions | gcd A

(D) Become unconscious | a%l?s{

Correct Answer : B

6). Which wiring installation uses the system earthing? | WTGTJ&"T
g ST el SiTcl?

(A) Substations | LRG|

(B) Godown wiring | ST AR

(C) Domestic wiring | SIaE® I
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(D) Commercial wiring | HHRIST IR

Correct Answer : A

7). Which method of earth reS|stance measurement is illustrated as

::‘;rfr\l%wn in the figure? | 3T 372 YSRe~dt HioToaT! S0 Tegd

|
SN (7S FALAN AN

7

(A) Fall of current | TId {1t dha

(B) Fall of potential | I 3IT® UIeRIser
(C) Current dividing | ®<c f&arafén
(D) Rise of current | Ui fRr3rd fearafe

Correct Answer : B

8). Which device provides the ignition voltage and act as choke in a
HPSV lamp? | BT UR TS I T HIUTT HIT SR
OGIQ'CUI gﬁddl d 9l U1 nlY f

(A) Arc tube | 3T cgd
(B) Sodiumvapour|mw

(C) Leak transformer | W@W
(D) High pressure aluminium oxide | CIOURR G{VWG{H NI G XS

Correct Answer : C

9). What is the unit of luminous efficiency? | FI&FIF B &Had Thdh
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D[Y?
(A) Lux
(B) Lumen
(C) Lumen/m?

(D) Lumen/watt

Correct Answer : D

10). What is the working temperature of tungsten filament vacuum
lamp? | flciHe e g dTOHT fobel! 3RId?

(A) 1500°C

(B) 1800°C

(C) 2000°C

(D) 2300°C

Correct Answer : D

11). Which method is used to reduce the earth resistance value of a

existing earth electrode? | ST 314 IR HH HRUGTHIIAT Y
Uegd dTuRdId?

(A) Increasing the length of electrode | ‘s’éaaj—s'%ﬁ NICICIEEIRE
(B) Keeping the earth pits in wet condition always | 33 gié Agdt siieR sardt
(C) Adding more sand and charcoal in earth pits | 34 Tic T HizH1 T AR TTHA

(D) Increasing the diameter of earth electrode | 3 sad{lsnﬂ Y dled

Correct Answer : B

12). What is the S.I unit of luminous intensity? | <JfH=Y $cfRICT d SI Thdh
DIUT?
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(A) Lux

(B) Lumen
(C) Candela

(D) Steradian

Correct Answer : C

13). What is the expansion of ECC? | ECC dI fOdR &1 31182

(A) Earth Conductor Continuity
(B) Earth Continuity Conductor
(C) Earth Carrying Conductor

(D) Earth Continuity Cable

Correct Answer : B

14). Which method is used to reduce the value of earth resistance? | 31

=T IR Rkid TG DU HIUIAMTS! DIV UG d aTURa Sildi?

(A) By reducing the size of earth electrode | a{afgéaej—s'm HTDHR DA HEA

(B) By decreasing the depth of earth electrodes | 3 5@Id§\IStll ST dlcd-

(C) By pouring water in the earth pit at repeated intervals | aﬁwww
GI?R'I# qroft eTp

(D) By connecting a number of earth electrodes in series | 3D a{ﬁsﬁaejmm%%

Correct Answer : C

15). Which term refers that the luminous flux reaching a plane surface
perpendicularly per unit area? | Eﬁ%ﬂ}[ﬁ? TRAT dadd A JEHNTER

Y TReTe 10T g Y[oid HRal?
(A) Lumen|?~§[ﬁ’r[
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(B) Hluminance | ngﬁFa

(C) Luminous flux | TgfET Tl

(D) Luminous intensity | g S

Correct Answer : B

16). Which material is coated in tungsten electrode of a fluorescent tube

lamp? | FIRIHC ST STReA IR HRIT HICTT HRATA?

(A) Silver oxide | TR 3iiRITSS

(B) Phosphor powder | BI¥HR U[GEY

(C) Fluorescent powder | TARIge giasy

(D) Barium.and strontium oxide | afver emfor wwdam &ﬁa‘mﬁ‘g

Correct Answer : D

17). How to control harmonic distortions in neutrgl connections of the
transformer as per IE rule? | IE ﬁl’qﬂ@'l? ed HaRH o
f=quRR (Harmony Distribution) & ®dld?

(A) Earthing through impedance | s HIHTGA 3
(B) Providing by plate earthing | W]C 3T He

(C) Increasing conductor size | I TDHR TG

(D) Providing parallel earthing | SHIaR 3T g

Correct Answer : A

18). Why the outer tube of a high pressure metal halide lamp_made of
boro silicate glass? | 819 URR Acd galils ! dexidl Jd
19 U 1 SHddTd?

(A) Increase the lighting effect | TR URIUMY dTafquareahtdl

Contact - 9370948482, 8055403224, 9325721873
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(C) Withstand atmospheric pressure | ATATARUTCE QISR T €1 gTugTehIdl

(D) Reduce the ultra violet radiation from lamp | S E| H@%’Nﬁ?i‘%ﬂ'&’ﬁaﬂ-ﬁ
HIUYTHIA T

Correct Answer : D

19). What is the purpose of choke used in fluorescent lamp circuit? | &Jd
THHE Tl BT e DIV 357

(A) Stepdown the voltage at the starting and increase the current | g leesl LUS3H PR
N IUERECIEE]

(B) Stepup the voltage at the starting and increase the frequency | Gglees] dlgdl 3101 dhie
dledl

(C) _Stepup the voltage at the starting and regulate the current | Flees WYY H
3for ng JGae A

(D) Stepdown the voltage at the starting and regulate the current | Fleesl TWUSI3T BRI
Prcd iYelc pxl

Correct Answer : C

20). Whicrl%pe of light fitting has glare effect? | HIUTT Uh IRAT g e
fopfeTae ek Shac 3 dl?

(A) Semi direct type | T SRRAE UhR

(B) Semi indirect type | 9! ISR DR
(C) Direct lighting type | STUYEE ATICHI PR

(D) Indirect lighting type | ISR AT UhR

Correct Answer : C

21). What is the name of the reflector as shown in the figure? |

3Teparadia Ribddex fiewn?
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(A) Mirror type | HIcR GEL

(B) Soft light type | TTU< ASC <3

(C) Parabolic type | Wardi® a‘é‘q

(D) Dispersive type | SIREIY eRy

Correct Answer : C

22). Whatis the function of the current reverser in earth resistance

tester? | 31U PR TR AL T RGER o B BT 3R?

(A) Converts A.C. into D.C | T.%. o SL.EHe SUfaRUl

(B) Reverses the polarity of D.C | SIS thF[-:::::fﬁ_cP[ S|

(C) Converts D.C. into A.C | SI. Hl. I . ). I sgad

(D) Reverses the direction of rotation of the generator | SiHeRT fhuardt feR sgad

Correct Answer : C

23). How the earth resistance can be reduced? | &rzf%r%qwamw
&l Al

(A) Providing double earthing | 9 3iffi1 &
(B) Reducing the pit depth for earthing | 314 die It Wil o Hed

(C) By decreasing the size of earth electrodes | sadg\ISHdnl SIC] diédq-

(D) Decreasing the length of the electrodes | sﬁaej:ﬁﬁaﬁwm

Correct Answer : A
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24). What is the function of leak transformer in high pressure sodium

vapour lamp circuit? | S UYR JIelgy /R o golc A foid
CIIWIRHR d o[ dnld 3”%?

(A) Reduce the starting current | {i{dld‘\ldl HRC HU! DU
(B) Increase the working current | IPIT Eﬁéﬁw PRGN
(C) Increase the working voltage | 11 Fleeol ATGAUIrITA

(D) Ignite the high voltage initially | G¥=aTdIT STd @lecsT UATATS!

Correct Answer : D

25). Why the system earthing is different from the equipment earthing? |
Bl SUDBRUT ST UL U GUSH avTST HRM S 2

(A) It protects human only | Thad TISTd SR&UT®HRA
(B) It protects equipment only | HIC ATga HurT-g1 Feed 3

(;)_in%is associated with current carrying conductors | 3¢ dIg —ogr -l qrEdIRit
ad

(D) Itis associated with non-current carrying conductors | iaqu Udig dig- F =TT

argA

Correct Answer : C
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NIMI Mock Test

1). Which type of meter is used to test the polarity of battery? | CLRE]
U PIUTd feR aTuRdTd?

(A) Moving iron ammeter | %ﬁ'ﬂ ST Hiex

(B) Moving coil voltmeter | Eﬁ'ﬂ Pigd gleeHe

(C) Moving iron voltmeter | l-g'ia*l ST glecHla’

(D) Dynamo meter type wattmeter | STIAHIHICR e3Y deHIes

Correct Answer : B

2). What is the name of the scale as shown in the figure? | GAW'ﬂ?[
I ord A1 DY 38?2

(A) Linear scale | faHsR wa
(B) Fine scale | BH THd

(C) Extended scale | $dHE%S A

(D) Non-linear scale | 14 ferfeR b a

Correct Answer : D

3). What is the type of frequency meter as shown in the figure? |
IRART HIC UPR DY 3MT5?
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(A) Weston type | fa%i9 18y

(B) Ratio meter type Rﬁ[Gﬁ ez ergu
(C) Electro dynamic type | sad;\lsm-:lll-lﬁld> EY

(D) Mechanical resonance type | b ADHd ﬁ@ﬂ?qaéq

Correct Answer : D

4). What is the unit of sensitivity in voltmeter? | FlecHierae

AffefEd ths &I 3e?

(A) Volt / ohm

(B) Ohm / volt
() Ohm metre

(D) Ohm / metre

Correct Answer : B

%)_l.ﬁWhere the recording instrument is used? | BTG $&§J:|'C 3725 qIoRd
? -

(A) To display the quantity | 9HTUT U Rid HRUgMe!
(B) To indicate the quantity | JHTUT SRifquaTTat

(C) To register the quantity | UHTUI Tigult Hyvarardt
(D) To measure the quantity | THT0T HIST0gET3T

Correct Answer : C

6%. What is the reason for the moving coil meter having uniform scale? |
5|5|€UIIH% HI%” 35I§EI ez §|3|55|I| Thd 3?

(A) Deflecting torque is directly proportional to the current | fEredi e &1 HicTr=a
HHYHTOTA Sl


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 117
(B) Deflecting torque is inversely proportional to the current | fSRifdeT Tl PN K]
YHTUT Sl

(C) Deflecting torque is inversely proportional to the square of the current | fSrafaeT <idh
PN qiT] Fxd YT

(D) Deflecting torque is directly proportional to the square of the current | fewafd efd
eI aiaT FHYHTUIT Sl

Correct Answer : A

7). What is the name of the error if the energy meter disc rotating
continuously on no load? | Q:ITrﬁINEQ S @S F9dHl Idd fthd
3T AT A1 B 3M16?

(A) Speed error | s TR

(B) Phase error | ol TR

(C) Friction error | e TR
(D) Creeping error| fodi TR

Correct Answer : D
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8). What is the name of meter as shown in the figure? | &Hﬁﬂ

SRITTYHTY Hie= 19 B 31Te?

(B) DC multirange voltmeter | DC HtC RSl GeeHICR
(C) AC and DC multirange ammeter | AC d DC AN 3 HIeR

(D) AC and DC multirange voltmeter | AC d DC Aol gleeHiey

Correct Answer : D

9). What is the type of wattmeter as shown in the figure? | &I'I?rﬂq@[
CRUERZIEEI TR BT 36?

(A) Three element 4 wire wattmeter | 3 QFﬁ'ﬁ'C’ 4 IR de Hiex

(B) Two element 3 phase wattmeter | 2 Qﬁﬁ?’ 3 ol de Hiex

(C) Three element 3 phase wattmeter | 3 EFﬂﬁ_C’ 3 Tl dc Hiex

(D) Three phase two element with C.T & PT| 3 T 2 Qﬁﬂﬂ? . g & ﬂ%ﬁﬁ

Correct Answer : B

10). Calculate the value of shunt resistance required to measure 10 mA

10 :
Contact - 9370948482, _8055403224,I 9325721873
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3{TaRgh i YIARIYT e 27 ohms UCRIY 3eiedT ThHT mA HicIHg HISTI.

(A) 3Q
(B) 30Q
(€) 03Q

(D) 300Q

Correct Answer : A

11). Which electrical effect that the single phase analog energy meter
works? | RiTe el W@Gﬁrﬁaa%wﬁ@ﬁqmmm?
(A) Heating effect | %@T?{W

(B) Induction effect | SR 's;iisaa
(C) Chemical effect | HHIBA scbdt

(D) Electrostatic effect | SABCRCC P e

Correct Answer : B

12). Which power of AC supply is measured by the wattmeter? | AC
RAaE! ma%ﬂa’m!%%ﬁmﬂaﬁ?

(A) Instantaneous power | GIGAINERCIEN
(B) True power | T ufaR

(C) Apparent power | T¥ BICK

(D) Reactive power | UfdfharRiia BICH

Correct Answer : B

13). How the creeping error is controlled in energy meter? | LSS

Hiexadie fobdin TR B2t R dedl Sird?

------ (A} -By-reducing rated-vottage | CE-BRES B P = = == == === === -----oo-o-oo -
Contact - 9370948482, 8055403224, 9325721873
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(B) By increasing the inductive load | SeRIg dle dled-d

(C) By removing the brake magnet | §& TUC HIgd <IHA
(D) By drilling two holes diametrically opposite on disc | &= ArTaR GURHER
a g ursTd

Correct Answer : D

14). Which is an absolute instrument? | G{VW Hiex DIuTd?

(B) Volt meter | BlecHeT
(C) Energy meter | TSI HieR

(D) Tangent.galvanometer | [ I Bl (51 1 2 [ord

Correct Answer : D

15). Which meter is used to measure the revolution per minute of a
motor? | Alexd! Ufd e Hid Aeroarardt Hiord Hiex diuRd Siid?
(A) Tachometer | chiHlex

(B) Energy meter | Q"—h‘r”ﬁla

(C) Ampere hour meter | 33 3aR Hiex
(D) Centre zero ammeter | Tz Eﬂﬁ e

Correct Answer : A

16). How to identify the moving iron type instrument? | H%Tl SIIRAA
9y HIeR By 3l @dar?

(A) No terminal marking | cHiear e i erd
(B) Terminal marked (+) only | cH T Bad +ve AHIT 34

(C) One terminal coloured red | Tch cHie AT T 3
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17). Which type of energy meter works with neutral connection? | ol
8 oo H1aR g DI Hld?

(D) Terminal marked (+) and (-) | THAAT +ve T -ve HIDHIT 3Td

Correct Answer : A

(A) Three phase two element | 3 Tl 2 EFﬁ'ﬁ_c'

(B) Three phase three element | 3 Tl 3 galHe

(C) Single phase single element | Riwra wor Rivra Q’E’ﬁﬁ?{

(D) Three phase two element with CT & PT | 3 T 2 QFﬁﬁ'c' 1. 1. g . 'CQFFIEﬁT‘T

Correct Answer : C

18). Which electrical quantity is unable to measure directly by the

multimeter? | DIV faggd JATO AediHiex U Aelar Ad AAle1?

(A) AC voltage | Q?ﬂ@@ﬂ
(B) Resistance Rﬁw

(C) Power | UiaR

(D) DC voltage | SIHt &lees!

Correct Answer : C

19). What is the function of soft iron core in a mov;|1”% coil instrument? |

He N Higd HIeHH AT T DR d B B0 3e?

(A) Strengthens the deflection force | fSTIaRM Wi 9 drefavararat

(B) Controls the needle’s movement | SIRIE] lj,osﬁl'c q'og\m HRUTHIST

(C) Provides meter with maximum sensitivity | s A YR SMuTTgETat

D) Provide uniform distribution of magnetic flux in air gap | T3 TS A TR
’%almm‘rmla"t
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Report

20). Which force is required to move the pointer from the zero position
in an indicating instrument? | Jd& IYTHS Urg el [ R[>
§C SHTaRTD 3157

(A) Controlling force | fd=or IRom

(B) Deflecting force | feswfaeTT Uz

(C) Air friction damping | U8R o= Safiv
(D) Eddy current damping | TSI &3c S

Correct Answer : B

21). Which factor is affected due to the loading effect on measurlng
instruments? | AT0 TATdR ST THTATHes HIUMdT g UHIAd Bidl?

(A) High influence error | Bﬁfqﬂ-ﬂaﬁﬁ
(B) High sensitivity | B giciicl

(C) Lowsensitivity| € I=dIGIc!

(D) Low influence error | ar TR TR

Correct Answer : C

22). Whﬁ the scale of the moving iron instrument is having non-uniform
scale? | ArGS! IUBRUTAT Th ] QP HHIA Al Wb d BT 3TA?

(A) Deflecting force is directly proportional to the Current | Siran B S
FHYHTUN 3l

(B) Deflecting force is inversely proportional to the Current | feradt B e s
GHTUN 3l

(O)_ Deflection of force is directly proportional to the square of the Current | fewfaen
<I% Heel AT IH YHTOIT

(D) Deflegtion force is inversely proportional to the square of the Current | fSrifeT ®wi
dX T AT oUId UHIUMd
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23). Which is the position to use the instrument provided with gravity

control? | TRIC! deld HYS HIH HRUN-IT Hied T Hiurdl fRUdid s
qTORAT?

Correct Answer : C

(A) Any position | Wﬁqﬁﬁmqmﬁ
(B) Vertical position | 37 Ryl

(C) Inclined position |ﬁ|@@l’6ﬁﬂ

(D) Horizontal position | s Rydia

Correct Answer : B

24). Which type of instrument is used with air friction damping? | T3
fOh eI ST e HIUTd HicR ATURdTa?

(A) Moving coil instrument | Wﬁéﬂrﬂa

(B) Moving iron instrument | 'ﬂﬁﬂ"T 3ma+ e

(C) Induction type instrument | $SIRE CI8U Hiex

(D) Dynamo meter type instrument | SMI TRy fiex

Correct Answer : B

25). What is the type of instrument as shown in the figure? | &Tﬁﬂ‘iﬁ
T bR DY 3Te?

T =y

------ (A} -Attraction type moving iron | 3~ oA TIEF HGHF SFFFF - - - -~ -----------------
Contact - 9370948482, 8055403224, 9325721873
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(B) Repulsion type moving iron | RUeRM E'I?;'EIH%"T SHIIAA

(C) Permanent magnet moving coil | TRH-C HIC J& 11T digd

(D) Dynamo meter type moving coil | SR TRy H@"T?I%ﬂ

Correct Answer : A
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NIMI Mock Test

1). What is the function of the neutral conductor
in AC supply system? | AC QRA3T quIdHS dey
B B 38?2

(A) Provides the return current path | YR g 9nf
UG $d
(B) Increases the voltage level | leedl Udes! aread

(O) Reduces the voltage drop in wiring | IR Eleed
ST HH dRd

gD) Maintains the load current constant | s gdHH fRR

Correct Answer ;. A

2). Which type of A.C single phase motor is used
in food mixer? | TS HRR T HIUT RITTA ol
AR aIoRdI?

(A) Universal motor | Hﬁ%ﬁﬁtﬁﬁ
(B) Repulsion motor | RURM qieR

(C) Split phase motor | el Hiex
(D) Shaded pole motor | Tee UId Hier

Correct Answer : A

3). What is the defect in a single phase capacitor
start pump motor if it runs with slow speed? |
RiTTer Tt HURYeR TeTC 4U Hiex SR He T =1ard
3T TR T BT QY 3MTg?

(A) Defective capacitor | HURIEY WRE gnﬁ 3ad
(B) Open starting winding | LTSN IRISIT 31U et 3R
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(CE Short in starting winding | T¢I aRISIT A 2TE Tel

(D) Short in running winding | T aSiT =TE el S

Correct Answer : A

4). What is the temperature range, maintained

by thermostat in geyser? | erAdia yAlkeegR
R SIUMR YA HUfl B 3187

(A) 60°Cto65°C
(B) 10° Cto 150° C
(€) 0°Cto130°C

(D) 0°Cto50°C

Correct Answer : A

5). What is the purpose of sole plate in electric

kettle?\Lﬂ'igdgnIObﬂ Hd 7 Uid Wic 91 ®1g
?

(A) Acts as a balancing weight | ST S-=ARTd HTH Hd

(B) Acts as an insulator for element | HFﬂ'ﬁ_c' T v
U HTH Hd

(C) Protect the kettle base from damage | ded d9d RCASIE!
qrIad

(D) Keep the element in close contact with container |
UCPH PoANHl JTd5Al

Correct Answer : D

6). What is the fault in a food mixer if it runs

intermittently? | FSHRR SYAHYA d1q & 8Id
T R T e ST
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(A) Worn out brushes | g+ 3TSHe J:9

(B) Armature winding open | TR TR I°S]

(C) Field winding open | Bice deaUl JUS

(Dg Field winding partially short | BIc aTgfeT A& T STal

Correct Answer : A

7). Calculate the heat generated in a electric
heater of 1000 watt, 240 volt, worked for 5
minutes. | 1000 dI¢, 240 diec Sclacid alcl 5
forTe S BT S R et IIdT FHI0T Bla?

(A) 70.5 Kilo calories
(B) 71.0 Kilo calories
(C) 71.6 Kilo calories

(D) 72.1 Kilo calories

Correct Answer : C

8). Which formula is used to calculate the heat

generated as per Joules law? | Wﬁﬂﬁw
WA HITT BRI eTe UGN HRATd?

(A) Heat generated = IRT / J cal

(B) Heat generated = I’RT / J cal

(C) Heat generated = IR*T / J cal

(D) Heat generated = (IR)*> T/ J cal

Correct Answer : B

9). Which material is used as heat insulator in
between the outer casing and inner tank of a

------ geyser? | HgRe -STe-rd BTG HHO-SFAIRE - - - - - == === m - mm e e m e oo
Cont act - 9370948482, 8055403224, 9325721873
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CTh A IUARIYD TUH DU MU dTORdl
EIGK

(A) Plastic | @TRCH

(B) Glass wool | TdTH &

(C) Paper | BTG

(D) PVC | Uit

Correct Answer : B

10). What is the purpose of U bend marked as ‘X’

in geyser as shown in the figure? | &W?ﬁ
EK_EZHEWT@[\ igRAE X' WU forgifdbd deledl U
Sgl SRl B 31Tg?

(A) Prevents draining of water | qroft DIg CTHhUUTH
uélatﬂ?r Hd

(B) Avoids the forming of scales | Thd @l-llralUQIblltjﬁ 3{Te5d

(C) Reduces the pressure of outlet pipe | 3T3cale ursadr
GaTd HH! DR

(D) Restricts the air locking inside the tank | g4l SIEA
arrad

Correct Answer : A

11). What is the name of the circuit as shown in
the figure? | 3T did GRATITYIHIU Aiched 1d
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1T 3HTa?

l e
10K MTE
GATE ’_@ BT
240V, B0HZ A
DINGLE 100 KO .t
PHASE A .r’ﬁ“\,
L =)
o
r 1T

(A) Electronic fan regulator | sﬁmﬁw

(B) Electronic voltage multiplier | sadgmdv G lee ol Hegl

A=( Y

e Glecdl

() _ Electronic voltage stabilizer | gl

~

(D) Electronic triggering circuit of SCR | B@IT:EA'TW |§‘I€|"I
Hfghe 3t SCR

Correct Answer : A

12). Which is the position for maximum output of
the heater? | @?ﬁ% TP SR S

3P C DIV WSIRHAS Ha?

ol LSt
m 1] ﬁ'\ 4%
L. Al

1 2 3

-

o

(A) Position 1
(B) Position 2
(C) Position 3

(D) Position 4

Correct Answer : B
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13). Which type of motor is used in the wet
grinder? | d¢ UGS Y DIUIAT YhRd! HICR]
hdld?

(A) Universal motor | glr-\-los{-lrcfl qie’

(B) Repulsion motor | ROe’M A’

(C) Capacitor start induction run motor | PURIER HIex
(D) Shaded pole motor | Bifdrd Uid Hiex

Correct Answer : C

14). What is the\reasgn for the AC table fan runs
very hot?.| T8l ¢ad - U TR BI0Td BRI
h1g?

(A) Defective starting winding | eIV XIS arafsT
(B) Defective centrifugal switch | ey W’Iﬁ g
(C) Defective regulator | TaIY Ma™M®

(D) Wornout bushes | Siof s=r

Correct Answer : A

15). What is the name of the part of electric iron
as shown in the figure? | 3P dld GRIGeUTIHIU]
faqgad digrdl YT A1d 1T 3{Ta?

(A) Sole plate | =T

(B) Pressure plate | IR @

(C) Mica insulation | Y®H

(D) Asbestos sheet | Q@E’um PECY
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Correct Answer : A

16). Which effect of electric current takes places
in the cooking range? | 1dq
BIRYIE| %qqqloblwlgﬂﬂﬁmﬁ

(A) Magnetic effect | 4aHII YUTd

(B) Heating effect | BifeTT yuTa
(C) Gas ionization effect | TRl 3TI+IHRUT THTE
(D) Chemical effect | RRICIGER LY ]

Correct Answer : B

17). Which electrical effect works on electric

g;%zlﬁaaﬁwﬁwﬁ@uuwm

(A) Heating effect | 81T UUT@

(B) Magnetic effect | ﬂﬁﬂ”ﬂ'ﬂ YUYId

(C) Chemical effect | ™MD THTG

(D) Gas ionization effect | 19 3BT YHTd

Correct Answer : B

18). What is the function of magnetron tube in a
microwave oven? | Ohiced JlgHe IFBIE)[ Ad
o B B

(A) Amplifies the microwave signal | ArIshied Riyd drefaul
(B) Changes the polarity every half cycle | @ g% el
PINIEEICESIE)

(Q)_Oscillate and produce the cooking frequency |
BT ST TUUTH TRARAT TYR BRI
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(D) Converts the microwave energy to electrical energy |
& TR

Correct Answer : C

19). What is the function of stirrer motor in micro
wave oven? | HTdhIcd 3ficgd U ATAUN-I7 Hiexd
B BT 3R?

(A) Draws cooling air inside | RIde ga1 HTe Ul
(B) Spreads the heat uniformly | AU IO TERAT0!

(C) Exhausts the hot air outside | TRY gdT STgX HIGUI

D) Revolves and reflects the electromagnetic energy |
: Jull 95 g WRTacild B0t

Correct Answer : D

20). What is the function of the rotary switch in

food mixer? | Uﬁﬁﬂﬂm%ﬁﬁﬁww
P 3Te?

(A) Over load protection | g IS WM
(B) For reverse rotation | ﬁ%ﬁm
(C) Over current protection | < TR&UT Fcll
(D) Speed selection | i fas

Correct Answer : D
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NIMI Mock Test

1). Which cooling method is used in the pole mounting distribution

transformer? | OTd AT3ET S IRM TRIBIHRAS IO BT Ugd
?

(A) Oil forced water forced | O ot Tl gt

(B) Oil natural air blast | 3T oRd U3R SRS

(C) Oil forced air forced | &ﬁ%ﬁtﬁﬁﬂeﬂm

(D) Oil natural air natural | %ﬁﬂ?&?ﬁﬂ

Correct Answer : D

2). Why the core of the current transformer is having low reactance and

low core loss? | TN T HR AT D IRAW HHT ST TSl R
IH I BT H6?

(A) To maximise the burden | 313l AIGIUITHTA!
(B) To maintain the constant output voltage | R 3{13cyc lees IRGUITITS!

(C) To prevent the high static shield | 3= QR GId e TR}

(D) To minimise the error in the reading | Wﬁﬁaﬁwm

Correct Answer : D

3). Which transformer is used to measure high voltage? | e &lecol
IR HISTUATHRIAT DIV CAWhIHR dTIRAI?

(A) Pulse transformers | T8 FIBIHR

(B) Ignition transformers | SENE ;IrHLbTJ-TQ

(C) Potential transformers | refRrera g‘l?-l'cﬁﬁ?’
(D) Current transformers | ET{-J__F-]W aif
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4). What is the advantage of stepped core arrangement in the larger
transformers? | 13T € ?5 WIS B3R G%GFQ_C' B

?

Correct Answer : C

(A) Minimizes the copper use | TSI ATUR HH HId

(B) Reduces the hysteresis loss | BENEKE] RESIE! S DHRd
(C) Reduces the eddy current loss | TSI gaqH RCRSIG HHT Bl
(D) Reduces the space for core | PHISR TTA! SITHT HHT BRUGETST

Correct Answer : A

5). Which condition is to be satisfied if two single phase transformers are
connected in parallel? | &I fETe ol THIAR THIR S SRIIN
aﬁqpf?ﬂmw%ﬂ?

(A) Same capacity | FHTT &HdT

(B) Same polarity | HHT Tieanyel

(C) Same cooling method | i XMd®HR0T Ugd
(D) Same type | HIH UhRR

Correct Answer : B

6). What is the condition for obtaining maximum efficiency from the

’g;gsformer? | SFIBIHRAYT SR SR BRIEHT (e [udTa 31 H1
?

(A) Copper loss > Iron loss
(B) Copper loss < Iron loss
(C) Copper loss = Iron loss

(D) Copper loss = Eddy current loss
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7). Calculate the voltage regulation of the transformer in percentage if
the no load voltage is 240 volt and full load voltage is 220 volt? |
&} IO oml UR 1 dis ®lee ol

240 e 3 10T IUT Al Blees 220 Rled 3

Correct Answer : C

(A) 0.072
(B) 0.083
(C) 0.0871

(D) 0.0909

Correct Answer : D

8). Why the ferrite core is used in radio receivers? R’%’Bﬁ fieere

TIISC DIX I ITURAT SITal?

(A) To reduce the constant losses | HRET ATHH HHI HIUITHIIAT

(B) To reduce the electric interference | SADHCID TSI HH! HRUFIGIAN
(C) To increase the quality of sound | ﬁmwmww

(D) To decrease the efficiency of receivers | i SR HH BRI

Correct Answer : A

9). Which method of cooling is used for distribution transformer up to

100 KVA? | 100 Heit Td faaRul S ARAT3! HICHTH IUNd! Tgd aruRe

?

(A) Forced oil cooling | STERGXIH ddl 48 HIO!
(B) Oil natural water forced cooling | da A9 roft gt U
(C) Forced circulation of oil | ad BT SR TR

(D) Natural air cooling | il gar a5 w0
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Correct Answer : D

10). How to determine the core loss in a transformer? | Wiﬂﬁ
DR Y HY SIA?

(A) By ratio test | ‘IUﬁT'R?l'I?I'UﬂE'IB{

(B) By impulse test | 3T AU H

(C) By short circuit test | ¢ gihe IR

(D) By open circuit test | 3+ Aftre araoiigi

Correct Answer : D

11). Which material is used to make the core of ower transformer? | BICR
YT SIUITHTST IO ST ?ﬂElTFf#

A

(A) Softiron | e ST

(B) Hot rolled steel | TRH I Had Tid

(C) Copper alloy | PIU 3fAIg

(D) Cold rolled grain oriented steel | PIes Aes U Gﬁﬁ'QéG"\‘?ﬂﬁ

Correct Answer : D

12). Why the primary of the potential transformer is wound with thin
wire and large number of turns? | 1\'-Iﬂ-llou dIrHLhIJ-NtII UIYTHDH YN UTdos
IR SHTTO1 HIGAT THH TBUIH hT SRAHT bl Slcll?

(A) To offer high impedance | & UfAETT 3TH HIVYTATS!

(B) To offer low impedance | ST Ui SR HIUITA]

(C) To increase the primary current | UYfHD YdTg dIeaudrra]

(D) To decrease the secondary current | g&H Udlg HH HIOATITST
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Correct Answer : A

13). What is the effect on CT if its secondary is kept open? | SR &HC
ST Jdbhest 31U 3Rd R B URumH

A

(A) CT primary burns out | WMG@HG@

(B) Volt ampere capacity reduces | FIeT 3 TR HURIE HH gisd

(C) Volt ampere capacity increases | Flee 3 TSR HURIC dled

(D) CT secondary winding burns.out | . 1. Gasd arsfsm vldq Tﬂ'lg?[

Correct Answer : D

14). What is the name of the part in power transformer as shown in the
figure? | 3Pl GIRAGATIHTT! GiaR S-BIHRHANTT HIT 19 H1d-3{Te?

(A) Breather | foex

(B) Tap charger | [T

(C) Explosion vent | TaRiciiold ¢
(D) Buchholz relay | g et

Correct Answer : D

15). What is the name of the transformer as shown in the figure? |
\31I<1‘>CIICI dl(@ldcﬂl&«lHlUl dlf{-ll-hIJ-Rd ld oY \’rIT%'?
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{0

(A) Air core transformer | U¢H T33R CaKIng g’l?"-l"ﬁﬁ?
(B) Iron core transformer | ST DHISR E'F\‘:rq?\ll'ﬁf?

(C) Ring core transformer | R PIeR @R‘lﬁﬁ?

(D) Ferrite core transformer | TRISC HISR EA}I'T\“TW

Correct Answer : A

16). Which loss of the transformer is determined by the short circuit test?

| TTE Fidhe AUiigR TFaBIHRE SIvd g FHiEd b Sfd?

(A) Copper loss | BIUR AT

(B) Windage loss | fosie A

(C) Hysteresis loss | g darg
(D) Eddy current loss | $81 HRe g

Correct Answer : A

17). Which loss is assessed by the open-circuit test of the transformer? |
-gfthe IEAUigR ST THAMR Hedidhd Pl Sfld?

A

(A) Hysteresis loss only | %@ﬁ?ﬂﬂa”mwa

(B) Eddy current loss only | T8 ®Xc A o
(C) Copper loss | PIR A
(D) Core loss | PIR AT

Correct Answer : D
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18). How the error in the readinﬁs. of the potential transformer can be

reduced? | THTH TIHIHIA] et AT HRM BT el SIS Adhd?

(A) Using thick laminated core | SIS TH-C S HR TRl

(B) Providing long magnetic path | die Tafe® Ant

(C) Using low flux density material | U FaT °TdT I aTaRo

(D) Providing low quality core material |asrﬁaafa°r15[@r¥rmﬁ’ruaﬂw

Correct Answer : C

19). Which material is used in the breather to prevent moisture enterin
in the transformer oil? | TTAHIAR fsaHS TATAT I3, T UM siaxd
DTN FRUT ARl SiTc?

(A) Silica gel | RciieT oi@
(B) Sodium chloride | @?ﬂ&mm

(C) Ammonium chloride | EIFIH FIRTIE TR
(D) Charcoal and salt mixture | IR®IA g HI™ Ty

Correct Answer : A

20). What is the function of top float switch of buchholz relay in the

g%msformer?lmiﬁagﬂ@aﬁﬁwﬁuﬁ?%a%WW
?

(A) Activate in moisture presence | W\I%%R 3T g de fﬂ?ﬁ

(B) Activate at overloading condition | \’rﬁﬁi?ﬁ@ﬁﬂ HSIREA 3 Fde Eﬂ?ﬁ
(C) Activate at open circuit condition | 3T Githe fRydAed s adiee gial

(D) Activate at low temperature condition | U e R feha &1

Correct Answer : B
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21). Which is the indication gf a moisture contaivngd t\r}ansfonper oil is
placed in the crackle test? | el CIEHE TAHIHR 1S Sacied]
HIUTT Hhd 3M8?

(A) A flash over occurs | TRl \3?@? Eﬁ?‘ﬁ
(B) A crackle sound is heard | F®I 3TaTS UF Adl
(C) A humming noise is heard | SR &nam@ﬁa‘r

(D) A sizzle noise is heard | T Hd Y5 AT Q@ﬁa‘r

Correct Answer : B

22). Why the primary of a distribution transformers are connected in

delta and the secondary in star? | WWWW SecrEel ST
3 ARAL BT Siedd 3HTgd?

(A) To avoid the over loading | IR AT TS uaTTa!
(B) To maintain the constant load | Tdd dIS IRIUATHTS!

(C) To reduce the transformer losses | ;IrHLDTJ-TQa RCSIE! D HIUGRIS!
(D) To distribute the 3 phase 4 wire system | 3 TSl 4. 9193 UUITCl faesTd Pruarrst

Correct Answer : D

23). Which type of the transformer is used for high frequency

gﬁglication? | 3 ARART ATURVIARATS! 10Tl YR S IHR aToRel

?

(A) Ring core transformer | &7 DR @R‘lﬁﬁ?

(B) Ferrite core transformer | BRISC B3R TABINR
(C) Silicon steel core transformer | Rrefiopig Td EI"?[&REA'IT\‘:ITET'HF\r

(D) Grain oriented core transformer | PE| GillifQ%'S ﬁ&REA'F\‘:l'q'T\IﬁT

Correct Answer : B
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24). V\Lhichgpe of emf is induced in an auto transformer? | 3{ic]

HIUTT Yh R STHTH YR el STd?

A

(A) Self induced emf | G S99 5.UH. T
(B) Mutually induced emf | J-gvg\?ﬁﬂ SR 3.0
(C) Eddy current emf | TSl I emf

(D) Dynamically induced emf | SIHHIG! SS9 3. TH.U.

Correct Answer : A

25). Which is determined by the crackle test of transformer oil? |
hoh el CIC - DT TNYTA?

A

v

(B) Moisture | AT
(C) Viscosity | fgwpIIC
(D) Dielectric strength | S'RII'E;@W @A'H

Correct Answer : B
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TRADE -ELECTRICIAN

Module 1: Safety practices and Hand tools

1). Which type of occupational health hazard is
cause for infection due to bacteria? |

eiTd Ua?

(A) Electrical hazard | fdggad 3zl
(B) Biological hazard | Giifg

(€
(D)

(A) Flat drill bit | Teic S foe

(B) Taper shank bit | W 3 fae
(C) Countersink bit | HIIER R fae
(D) Straight shank bit | @AT:’Q\]?%I_C’

Correct Answer : B

3). Which criteria must be satisfied for the quality
of PPE's? | PPE =T UG hIUId (Y YUl bt
?
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(B) It cannot be used for long period | GEAPEINIERIRIE]
qluxl vl Klend '_‘||é|

(C) Made by non standard material | HTH® T gR
ERIERSK

(D) Low cost | HH T

Correct Answer : A

(A) Adding fuel to the fire | e o g

(B) Using water to cool the fire | $iF1 id HRUIMTS! Yot

(C) Removing fuel element from the fire | \’:I'I'lﬂw E‘EF-T
G B0

(D) Preventing oxygen supply to the fire | Wﬁw IERSE]
3T BRI

Correct Answer : C

6). What is the use of the pincer? | U=l JUTNT

Contact - 9370948482, 8055403224, 9325721873
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1T 3{Te?

(A) Twisting the flexible wires | [gxIT Tholaefiad aRR

(B). Cutting larger diameter of wires | TR 3T AN BT

C) Extracting the pin nails from the wood | TR W+
WA I8

(D) Holding small objects, where flnger cannot reach |
WA AT BIR BIR H7 /e i3d

7). Wha £ e of the tool as shown in the
figure PTG RITIATITHIUL HIYHI JId DT

31T8? ;,,?
S
~ ]
Sy
N,
A) w
(B)

(C) } natlon plie} wg%w‘ql I n d a

(D) Diagonal cutting pliers | SRITIHT i @A

Correct Answer : C

Correct Answer : D

8). What is the name of the tool as shown in the
figure? | 3TPpald TRITITIHT! LT 1d BT

?
e

(A) Wire stripper | W@W

(B) Side cutter | 9IS X

""" € Pimcer FRRIR- - - - - - - - - - - m s
Contact - 9370948482, 8055403224, 9325721873
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(D) Gimlet | fTHcie

Correct Answer : C

9). Which file is used for sharpening the blunt
teeth of a tenon saw? |

éﬂm?@mwmmwmv

(B) Composting | &
(C) Incineration | SSHITA
(D) Waste compaction | <RI Hh

Correct Answer : C

11). What is the name of the file as\shown in the
figure? | FRIATd qRETTIHTY WIS ATd BT 3M8?

...... {A)- Rasp cutfile | I ha BIgL - - - - - - - - oo oo aaooaao--
Contact - 9370948482, 8055403224, 9325721873
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(B) Single cut file | RiTTel e wigd

(C) Double cut file | Sdcl dhc IS

(D) Curved cut file | Pdg Pc BIZd

Correct Answer : A

warning signs in the safet ncategory
R R A

f he ameofmn in

(A) Claw hammer | CS| BV'FR'

(B) Ball pein hammer | S i gR
(C) Cross pein hammer | P {07 g
(D) Straight pein hammer | ¥¢ U9 1R

Correct Answer : A

14). Which is the golden hour for the victim
injured on head with risk of dying? | SR TdTcl

Contact - 9370948482, 8055403224, 9325721873
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Il SIFITAl AR ANTdT 3-d oR fdbd! dadrd
JUIR B0 AP 3ATR?

(A) First 15 minutes
(B) First 30 minutes
(C) First 45 minutes

(D) First 60 minutes

Correct Answer : B

e part marked X’ a
STp dld GRAGTHHTUT "X’

©)
© Skill India }

16). What immediate action should be taken to
rescue the victim, if he is still in contact with the
electrical power supply? | SR Tdrd] il

SAD I I AT STell SR a¥
giresard Oy wlurdt fobar ridt 2

(A) Pull or push him from the contact by hand | gTdr=T
[T T oUdd [l g Ul

(B! Inform your authority about this electric shock | GRS
-4l edacion Xl cliledid]

(©) Call someone for helping to remove him from contact |

cloh JWITIUINT g
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(D) Break the contact by switching OFF the power supply |
UiaR AWl A HUd §¢ R0

Correct Answer : D

17). Which pliers is used for making the wire
hooks and loops? | CIRRE] gh 3{TfOT [l
DIV Yeh S ITUR STTcl?

hering in

0y &
(B) Removing the fu%ent fram the fire &ﬂ"‘ﬁﬂiﬁf
EERERNIRRCRRERE A~

YaT

(C) Using of water to lower the temperature | CIIGICEIEIE!
qrogr<T diox

(D) Isolating the fire from the supply of oxygen |
STuTgA GI'?%IET-[ @ P

Correct Answer : D

19). Which Personal Protective Equipment (PPE)
is used for the protection from fumes? |

YFATIRS TRE(0T HRUATTS! DIV Frfoddh REM
SUHRUT ATURTC?

------ e e e B
Contact - 9370948482, 8055403224, 9325721873
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(B) Goggles | T

(C) Ear muff | b1 HHL
(D) Respirator | 99 I

Correct Answer : D

(A) Warning sign | SRIRIch o8
(B) Mandatory sign | TSI o

(C) Prohibition sign | Ufcsitie foie
(D) Information sign | Wﬁ%

Correct Answer : D

22). Which is the correct sequence of operation
to be performed while using the fire

Contact - 9370948482, 8055403224, 9325721873
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extinguisher? | SITRTH® T ITOR SR
Y Y HIUTT 3HTg?

(A) Pull, Aim, Squeeze, Sweep | Eﬁ@%%’q

(B) Pull, Aim, Sweep, Squeeze | ga@%u%—vr A

(C) Push, Arrange, Squeeze, Sweep | EQT,W,%,%U
(D) Push, Arrange, Sweep, Sequence |H-‘ZT,GI3W,]%U, f&ps,

Correct Answer : A

Skill India
"11\

24). Which artificial respiration method is to be
performed to the victim with injuries on the
chest and belly? | &rq%tn?ﬁ [l JIerar

BITaR SRIH AT BIUId] PiAH YRS d U
TR STel?

(A) Schafer’s method | YW Ug&d
(B) Mouth to mouth method | ATS Y o AISHY UGH

(C) Holger - Nelson's back pressure method | BITR - A
§b TR Uegd

D) eIson s arm-lift back pressure method | e s
4% URR g
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Correct Answer : B

25). What is the name of the tool as shown in the
figure? | 3TPpdld TRITITIHTOl HILYAT 1d B
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NIMI Mock Test

1). Which type of joint is used for extending the
length of conductor in over head lines? @ﬁ@T
@mﬁwm%

UHRd Sisc aradrd

(A) Scarfed joint | TDHThH Giﬁ

(B) Aerial tap joint | uRTd E‘"qaﬁ

(C) Britannia “T" joint | fSrerfar ' & Siige

(D) Western Union joint | et HﬁTF-I EIER

Correct Answer : D

2). Which type of soldering flux is used for

soldering aluminium conductors? | Fil@li”l
3{55&[%57:’ GI’>SOICQ{-IIOI HIUTT Y RAT IS ]

tholaRI<l] AT bl Sidl?

(A) Tallow | Cclt

(B) Kynal flux | STI-Td Y418

(C) Zinc chloride | f3FF TRISS

(D) Sal ammonia | ITaT SHIAAT A

Correct Answer : B

3). Which material is used as conductors for
wirin%?él%rtrﬁTmm"r e U DI AT
?

(A) Mild steel | T Wt
(B) Copper|?|ﬁ
(C) Silver | it
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(D) Galvanized iron | TeaIgss Alg

Correct Answer : B

4). What is the purpose of the bedding insulation
in the U.G. cable? | U.G e ER‘ﬂ_éin:lﬂl

DY 3MTg? Hea?

(A)_Protect the cable from mechanical injury | i
BRI TREfU HR0l

(B) Protect the cable from moisture and gases | \’rI'I_sET'IT 3o
U TREU] HRU|

(C) _ Protect armouring from atmospheric condition |
diciaxUHYINA ddid prU

D) Protect the metallic sheath against corrosion | Aeford
TSTUATUG S9Td HI00

Correct Answer : D

5). Which part of the underground cable is
protecting the metallic sheath against corrosion?
| SEUTSS hacTdl DUl U SHTATTAw G Tl
T GR&IUT DRI 3Te?

(A) Serving | TfegT
(B) Bedding | Sf$T
© Armouringlﬂ]ﬁﬁ'ﬂ
(D) Lead sheath | ferefRiy

Correct Answer : B

6). What is the size of the neutral core of a 90 sq.
mm 32 core U.G cable? | 90 IR it 31, ®R
U.G HhaaAl Yo hRaAl HHR bl 311g?
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(B) 50Sq. mm

(€) 70 Sg. mm

(D) 90 Sg. mm

Correct Answer : B

7). What is the name of the wire joint as svh_ovyn in
the figure? | &M?rmawrwﬁ aRR Wllecd
919 DT 3Te?

S

R R AT

P

i

(A) Aerial tap joint | TR3fd (AT | ]
(B) Knotted tap joint | Fics ¢U dlge

(C) Duplex cross tap joint | §Hc\1d{-l BT Y Sisc

(D) Double cross tap joint | Sddd 1 cU Silse

Correct Answer : B
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8). What is the purpose of ‘serving’ layer in

underground cable? | $STMIS bITHS TR dl

GUITT 8 P

(A) Protect the cable from mechanical vibration | TifA®

HUATIRIA dHecrd IAREUT BT

(B) Protect the cable from mechanical injury | BIIEED
TREfUT HR0I

(C) Protect metallic sheath against corrosion | SRNIEETA

YT BT TREUT B!

(D) Protect armouring from atmospheric condition |

CCERILCG]

Correct Answer : D

9). What will happen to PVC insulation in cable
carries excess current continuously for long

iod? | SiegT Ul INiT Sqaix Sfycied] HhaaH
\pfltlegloaloolnﬂ%d HC AT R bl B Blgal? «

(A) Voltage drop increases | Os\lc%\rl §TH $v1lrawi

(B) Voltage drop decreases | Slecol @J'q ISESS

(C) Insulation resistance increases | E’Rﬂﬁ?ﬂ%@wgﬂﬁv_\ﬂ
g_ﬁg’sulation resistance decreases | ?F\ﬂﬁ?ﬂiﬁ.ilﬂ

Correct Answer : D

10). Which layer is provided above the metallic
sheath in UG cable? | UG BhaeH el U
SHIARUIYT dR P [UTd] W%T\_ﬂ'l?ﬁ?

(A) Armouring | faerad
(B) Bedding | 81T
(C) Serving | Tl ¢d 38
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(D) Paper insulation | U0R 3gIRM

Correct Answer : B

11). What does the number 1.40 represent if a
stranded conductor is designated as 7/1.407? |
3EH Al Dheder 10 W3R U

ST HAT 1.40 BT GRad? 3MHR 7/1.40 TH
ay?

(A) Area of cross section | QﬁTIT 3% HIY Yo

(B) Radius of one conductor R’%?Tq A d4d

(C) Diameter of all conductor | SRR 3T 3iTd Hadex

(D) Diameter of each conductor | STOHER GI}I"WE_ZT Hedel

Correct Answer : D

12). What is the advantage of the stranded
conductor over the solid conductor? | ¥
b SISRYET STs P ol hSacd] DI Pl @ﬂ%?

(A) Costis less | fAd HH
(B) More flexible | AafIddr STRd

(C) Less voltage drop | W@@Wﬁﬂ
(D) More insulation resistance | ST sﬂ{j@l-‘ilrl m

Correct Answer : B

13). Which type of joint is used in over head lines
for high tensile strength? | R gz
JhR Sligc g1 ¢=I Al TdTa] ATuRdTd?

(A) Scarfed joint | THTH Siac
(B) Married joint | fddTigd ¥gad
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(C) Western union joint | 3% g9 Wisc

(D) Rat-tail joint | SGR-]UT Tgaa

Correct Answer : C

14). What is the name of the part marked ‘X' of
the belted U.G cable as shown in the figure? |

3THdid TRITTIHIU e U.G deieie ‘X’
EEIEGRIERICEC R,

X

(A) Jute filling | SIc fthfeiT
(B) Armouring | TR
(C) Lead sheath | fors A1y

(D) Paper insulation |1:TCR37\EJ,?I'§F[

Correct Answer : C

15). Which is the semiconductor material? | o]
Hede HERSHS DIV 31152

(A) Eureka|§]§$[

(B) Ebonite | T§HTSC

(C) Manganin | SR
(D) Germanium|ﬁﬁ'ﬁ'q1=[

Correct Answer : D

16). What is the name of the soldering method as

shown in the figure? | 3TPHdld GRITITIHTTI
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ISR Ugdid A1d B 3g?

(A) Dip soldering | f8T Ties R
(B) Soldering iron | Qe Mg+
(C) Soldering gun | TSI =

(D) Soldering with flame | SidH B! Jes T

Correct Answer : C

17). Which is used to measure the size of the
conductor? | hsdcdl H[DhIR
JTURE STidl?

(A) Bevel gauge | S d ol

(B) Vernier caliper | B HIAR

(C) Standard wire gauge | Wes arR s
(D) Depth gauge | S T

Correct Answer : C

18). What is the possible range to measure the
size of the wire in a Standard Wire Gauge (SWG)?

Wwﬁw@aﬁaw%aﬁﬁw

(A) 0-44
(B) 0-42

(C) 0-38
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(D) 0-36

Correct Answer : D

19). What is the purpose of additional covering
over the insulation of insulated conductor? |
3gcic e heaeHl FYARHAR JHfdRed SHTaRumT=n
B P 3HTe?

(A) To increase dielectric strength | mﬁ% éﬂ
qIEqUITHTS!

(B) To reduce the conductor resistance | Hoaedl Ufdd R

(C) To reduce the power loss | Al AT HH HIVARITS!

(D) To increase the voltage drop | Blecol §TLI SIS BRI 6]

Correct Answer : A

20). What is the name of the part marked ‘X’ in
UG cables as shown in the figure? |

U&GH%W@ X' Fagifdd dercdn

(A) Serving|¥|’%""[

(B) Bedding | af&T

(C) Armouring | 3THRIT
(D) Lead sheath | farsfRry

Correct Answer : D
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21). Which type of soldering method is used for
servicing and repairing of electronics items? |

SARIR] T [T 31101 GHETAT PHIuTT
JehRl! AT I Uegd aTuRel] Sifd?

(A) Dip soldering | SIT Tiee<IT

(B) Soldering with a flame | S Bt e T

(C) Soldering with soldering gun | HIes N T4 Hics T

(D) Machine soldering | TR HSRA

Correct Answer : C

22). Which is the property of a good conductor? |
I S dexdT U %Ul?n 3{Te?

(A) Low specific resistance | FHI Tffhe YR
(B) High dielectric strength | 3= SIf—la‘l?;d) RICH|

(C) High specific resistance | 3o Wb IR
(D) Low mechanical strength | A gifAD !

Correct Answer : A

23). What is the effec:c on mplten sold‘gr due to
repeated melting? | Hlcc YIS YT [ddcd cdTdR
DI GRUMH gIdr?

(A) Tin content reduced | ICG K ﬁ%gv

(B) Lead content reduced | %gaﬁ?ﬁ%qa

(C) Prevent slug formation | ﬁ%?.’ T BIRERA
%ﬁEven solder flowing in joints | 37Tc! HiY) AL dTgd ST
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Correct Answer : A

24). How many electrons are there in the third
shell of the copper atom? | AIsTTAT S{UTAT foe=a
AT el Teide i Sdra?

(A) 8

(B) 13

(C) 18

(D) 29

Correct Answer : C

25). What is the cause for cold solder defect in
soldering? | HieeRiHed S HieesdH &y
GBI HRU[ HIUIC?

(A) Excessive heating | TRIRIE fgein
(B) Insufficient heating | mﬁ?ﬁ:ﬂu’ I%éﬁl

(C) Incorrect usage of flux | TRIGIET b IdT AR

(D) High wattage soldering iron | ST qeord Aes AT 1=

Correct Answer : B
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